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¥

the cubes formed by breaking the origMWVEHHSIRANKRLERA cubes JY WL IrsiRanker.com

(1) 1/6
(2) 1/10
(3) 1/100
(4)  1/36

1573805601, 1
1873805602, 2
1573805603, 2
1873805604, 4
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(L) 16
(2) 110
(3)  1/100
(4)  1/36

1873805601, 1
1873805602, 2
1873805603, 3
1573805604, 4
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:I fnh F;S%EJERé % ’&(E imbers 1!:']/1 By combining with 1t a second set of M

numbers. the mean of the combined s&YWYLEHRIRANKERGAM S the sufWWY-fHESIRAkpLCOM

of numbers?

(1) 10M -1
(2) 10M +1
(3) 20
(4) 100

1573805605, 1
1573805606, 2
1573805607, 3
1573805608, 4
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(1) 10M -1
(2) 10M +1
(3) 20

(4) 100

1873805605, 1
1873805608, 2
1573805607, 3
1573805608, 4
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e exam has 4 questions, each with 4 answer choices. Every question
has only DHE Cﬂl'l ect answ e1 The prob¥WNdG G BERKEE SAMnswers WWFls§tRanker.com

mdependent random guesses for each one 1s

(1) 1/4
(2) (1/4)*
(3)  (3/4)
(4) (3/4)*

1573805609, 1
1873805610, 2
1573805611, 2
1573805612, 4

TF JgdHiead TIET H 4 U949 § T2 TS U9 & 4 Ioe0d o fad T §| T0s
7ed @ oy Wod aEed JTAH F W6 U @ 0ol owid 9 @] Widedl ©

(1)  1/4

(2) (1/4)*
(3) (314
(4) (3/4)°

1873805603, 1
1573805610, 2
1573805611, 2
1573805612, 4
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(1) 8

(2) 9

(3) 10

(4) 11

1873805613
1573805614
1873805615
1573805616

Y

A & T 7 g gl o # feoq 9 € wiie i e 82

(1) 8
(2) 9
(3) 10
(4) 11

1873805613 1

1879805614 2
1879805615, = www.FirstRanker.com
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A bag contains 8 red balls. 10 blue balls, 17 green balls. What 1s the minimum number
of balls that needs to be taken out from the bag to ensure getting at least one ball of

each colour?
(1) 19
(2) 18
(3) 28
(4) 27

1873805617
15738056158
1873805619
1873805620
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(1) 19
(2) 18
(3) 28
(4) 27

1873805617, 1
1573805618, 2
1573805613, 2
1573805620, 4
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l legs cacnission- Mdess "-lpplican‘ra have to choose only one subject, 1/4% of the
applicants opted for Biology. 1/6™ for W"ﬁt‘é"ﬂﬁ'&r’r%R?[ngﬁrfc Physics atd't1 RESERAnkGEcom
18 applicants did not opt for any of the above four subjects. How many applicants were

there?

(1) 22
(2) 24
(3) 36
(4) 48

15738056211
1873805622, 2
1573805625, 2
1873805624, 4

T HElgenerg H 999 & oy Wel SRR & $a S 0ug 991 ©, Go awRar §
W 1/4 9 F WG @34, 1,/6 5 TEEA G4, 1,/8 Hilie s 921 1,/12 5 e
DI AT 18 IRATNTT < =N fqudl | W THE &7 91 981 947 | For Rl fead o?

(1) 22
(2) 24
(3) 36
(4) 48

15738056211
1573805622, 2
1573805625, 3
1873805624, 4
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=EI .rgtfgtna‘g-gl#g{e ng.ng situation. M was followimg V. R was just
ahead of T, and K was the only one by, T SIRARKERARMy a5 in 1l Yg"“!%gff&ﬁﬁ%&(% -com

that instant?
(1) A
(2) R
(3) T
(4) K

1573805625
1573805626
1573805627
1873805628

e IR

TH 99 H U SEgY & g SE ysR 1| V& g M o1 991 T & UdhaA A R
| FAA K O T T V & a9 o7 | 37 ffg & 99 999 g0 WH ™ & a41?

(1) A

(2) R

(3) T

(4) K

1573805625
1573805626
1873805627
1573805628

L I
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=I ].}_F@}Ili!: 51559 JBO c%! &ES?{!ILHIHI].": house. Mehul's house 1s 25 m to the
North-East of Rahul’s house. With YOMYEHrRSRAURIICOMouse in WHIERTSERAAKAr £OM

Karan's house?

(1) East
(2) South
(3) North-East

(4) West

1873805629, 1
1573805630, 2
1873805621, 3
15738056322, 4

O H W IGT @ N H @R 20 T DI WL Agad & oF TG & WS
Ja—Td H 25 | B I T T | g @ °OY W H90 & oY e fdem H g2

-

(1) w
(2) =i
(3) ST

(4) gfe=H

1873805629 1
1573805630, 2
1873805621, 2
1573805622, 4
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A =45xz26. B=2xz175. C= m,mgng\mclrstRankercom www.FirstRanker.com

(1) Only A,
(2) Only B.
(3) Only C.

(4) All three.

1873805632 1
1573805634, 2
18738056325, 3
1573805626, 4

i €1 T 7—oEg Wl # W SH—9T I o9 A8 B W 57
A =45xyz26. B=2xyz175, C=xpz3310

(1) Haol A.

(2) Had B.

(3) Fac C.
(4) Gkl

1873805633, 1
1873805624, 2
1873805635, 3
15738056326, 4
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(1) (2n)1/2

(2) (313

(3) (4n)1/4

@ &

2

1873805637, 1
1573805638, 2
15738056329, 3
1573805640, 4

fRor T e fF K1=1x2x3x...xK FA=fofaa § ¥ o8- v "aw 97 27

(1) (2n1/2
(2) (3N
(3) (4n)1/4
4 &

2

1873805637, 1
1573805638, 2
1573805633, 3
1573805640, 4
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o~

(1) A

(2) B

(3) c

(4) D

1573805641,
1573805642,
1873805645,
1573805644,

B IR

= | G 9l § W BHE—a1 9 FAEI0 y = const x & & GAT HT ?

(1) A
(2) B
3 C
(4) D

18739805641, 1 www.FirstRanker.com
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1573805644, 4

Of three children, Uma plays all three of cricket. football and hockey. Igbal plays
cricket but not football, and Tarun plays hockey but neither football nor cricket. The
number of games played by at least two of the children 1s

(1) one.
(2) two.
(3) three.
(4) ZEero.

1573805645, 1
1573805646, 2
1573805647, 2
1873805648, 4

UM d=al H ¥, 391 fihbe, Hedidl a1 Sidl dHEl Weldl § | Soard fthde Woldl © 09
edial JE1 | T Bl Weldl offd- | Gedid, 7 fhac| 9 | &8 & 9= @ gNI
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(1) one.
(2) two.
(3) three.
(4) ZEero.

1573805645, 1
1573805646, 2
1573805647, 2
1873805648, 4
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In a wen :::llrc?ts‘ra Ijerf:'orcehs? a pamculavaﬂdiﬂt_stﬁqﬂkatscmmu s to a mamviFinst Ranker aom
3 m. In a large survey. 1t 1s found that 30% of the plants have heights less than 1 m.
and 50% have heights more than 2 m. From these observations we can say that the
height of the plants inecreases

(1) at the slowest rate when they are less than 1 m tall.

(2) at the fastest rate when they are between 1 m and 2 m tall.
(3) at the fastest rate when they are more than 2 m tall.

(4) at the same rate at all stages.

1573805645 1
1573805650, 2
1573805651, 2
1873805652, 4

Q‘cﬁq;ngdwm*mqwmwﬁzﬁmmaﬁwmmw | U
s WO | 1T AT 5 30% TR B a1 Aicd | $F ©, 9207 50% T HalE 2
Hice W Y ©1 =9 99940 & YN U2 ©F &6 9ad © ﬁmmaﬁﬁﬁaaﬁ“ﬁ

(1) WHH T ds 01 §c?d ¥ 9 9 76d © |

(2) WU I ade d 189y G2 8cy S dd @ B ©

(3) WA N U odd2 9cd ¥ S0 5T O £ 1

(4) T oo ¥ 9EE Y 9

1873805643, 1
1873805650, 2
1573805651, 2
1573805652, 4
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A Ut d ey 19 bnd the most preferred leader among A. B. C is shown in the
table www.FirstRanker.com www.FirstRanker.com

Votes A B C

1% preference | 13 | 54 |33

2™ preference | 24 | 37 |39

3" preference | 63 |9 28

First, second and third preferences are given weights 3. 2, 1. respectively. Statistically.,
which of the following can be said to represent the preferences of the voters?

(1) A and C are within 10% of each other.

(2) B 1s the most preferred.

(3) B and C are within 10% of each other.
(4) C 15 the most preferred.

1873805653, 1
1573805654, 2
1873805655, 3
1873805656, 4

www.FirstRanker.com
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d A|B|C
T2 areTgen 13 |54 |33
fedg arirgar |24 |37 |39
Targ geEar |63 |9 |28

www.FirstRanker.com

afg vorm, fEdia Ud 9o waarel @ HEE 3, 2, 1, A TS 51 WY a1 AikEd &

fowe & Aol 3 9 o9—a1 Fwey Jagaet @7 u6s g9l o7

(1) A TATC SH1 10% & 3igd FAE

(2) B HI9 AENT T

ATHET T |

(3) B 2T C 51 10% & 2157 HAM

(4) C a9 Tiag ¢ |

1573805653, 1
1573805654, 2
1573805655, 3
1573805656, 4

TR & |

. . . 5 .
An ice cube of volume 10 em? is floating over a glass of water of 10 em’ cross-section

area and 10 cm height. The level of the water 1s exactly at the brim of the glass. Given

that the density of 1ce 15 10% less than that of water. what will be the situation when 1ce

melts completely?

(1) The level falls by 10% of the side of the cube.

(2) The level falls by 10% of the original height of the water column.
(3) The level increases by 10% of the side of the cube and water spills out.
(4) There 1s no change in the level of the water.

1573805657, 1

www.FirstRanker.com
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1573805660, 4

TP @ 10 em’ & TEN THEl 10 em’ IJFTRT FIC arel I=1 7Y fam & 07 | §
A Sa15 10 em § | FoT9 T@ed 997 g1 €1 I8 A §Y (& 9% & o9 9 &
U H 10% &9 ©. 39 9% @ [ua o 92 i aar gri?

STel @I WY Ard T T oW g8 e 9% @ She O Hol @ AT &1 10%

1) .
{ T |

Tl W2 A e 90 o O fege fo| © A © WE @ S & 10%

(2) N .
& FIg7 T |

3) el WY HUY I AN | 9T g B9 @ Al & H19 BT 10% ST 991 afaiiad
Ul 957 Bold ST |

(4) Uil WY | $I5 Uiad- Aol SR |

1873805657, 1
1573805658, 2
1873805658, 3
1873805660, 4

A four-wheeled cart 1s going around a circular track. Which of the following statements
1s correct, if the four wheels are free to rotate independent of each other, and the cart

negotiates the track stably?

(1) All wheels rotate at the same speed.

(2) The four wheels have different speeds each.

3) The wheels closer to the inside of the track move slower than the outer-side

wheels.

The wiieels closer To the 1nside 01 The Tack move taster than e outer-side

4 .
4) wheels. www.FirstRanker.com
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1879805662, 2
1879805663, 3
1879805664, 4
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(1) T 9T U@ § T W gEd ©

(2) =TT 9fEdr &7 T AT T

(3) I @ AN B ULy 9167 drel Uiedl @f gl 3 T Ted G|

(4) AT B AN & ufed 95T aTel UiRdl @ gorl H AE o Teld © |

1573805661, 1
1573805662, 2
1573805665, 3
1573805664, 4

A two-digit number 1s such that 1f the digit 4 1s placed to its right, its value would
merease by 490, Find the original number.

(1) 48
(2) 54
(3) 64
(4) 56

1573805665, 1
1573805666, 2

1873805667, 3
1873805668, 4

www.FirstRanker.com
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T afT arell U HeT © forad ST 2 4 T 99 §velT &7 °F 490 21fEd 87 T £ |

(1) 48
(2) 54
(3) 64
(4) 56

1573805665, 1
1573805666, 2
1873805667, 3
1573805660, 4

A cvyelist covers a certain distance at a constant speed. If a jogger covers half the
distance in double the time as the cyclist, the ratio of the speed of the jogger to that of
the cyclist 15

(1) 14
(2) 4:1
(3) 1:2
(4)  2:1

1873805669, 1
1573805670, 2
1873805671, 2
1573805672, 4

www.FirstRanker.com
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(1) 1:4
(2) 41
(3) 1:2
(4) 2:1

1873805669, 1
1873805670, 2
1573805671, 2
1573805672, 4

Based on the bar chart shown here, which of the following mnferences 1s correct?

80
&
1
HE F
~ -__E 30
-
i :
A B C D
Region
(1) Region A uses maximum water per kg of rice.
(2) Average water consumption of the four regions 1s 37.5 lakh litres.
(3) Region D uses thrice the amount of water used by region A per kg of rice.
(4) Region B uses 20 lakh litres of less water than region A.

18798056721
1BFIR05ETd = www.FirstRanker.com
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T T WE TG @ AN W faEfefigd § ¥ oiH—4ar sy 9e5r 22

60

kg of rice produced

per lakh litres of water
o4

A B C D
Region

(1) g A UG & w1 =g & foT waifte 9= SuaeT H o T ©
(2) TN &= B AT U P WUT 37.5 9ING e ©

&3 D, & A @ gorl | oF A1 AfEE 9ET U 6 97 9mae g SUarT | ol

Y
o

(3)

(4) g9 B, 89 A P UL 20 TG oilc? UHT &H SUgET H oldl

1873805673 1
1573805674, 2
1573805675, 3
1573805676, 4
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(1) Saturday
(2) Sunday
(3) Friday

(4) Wednesday

1573805677, 1
1873805678, 2
1873805679, 3
1573805680, 4

Td JEaH ¥ 61 37 1990 W@ @ SH—al a¥ 7

(1) AT
(2) Tigar
(3) gPpard
(4) ECEIN

1873805677, 1
1573805678, 2
1573805673, 3
1573805680, 4
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Which one of the following graphs best describes the dependence of free
energy change (AG) of ATP hydrolysis on Mg~ concentration?

85
(1) §’
r_l:g 7.5
7
107 10® 10% 1w0* 10? 10 w!
[Mg™] (M)
85
&
=8
(2) g
Eg?ﬁ
T
107" 10® 10° 10* 102 107 w0
[Mg?*] (M)
85
gs
@ &
75
g
T’
107 10 10 10* 102 102 10!
[Mg™] (M)
85
=
4 E£B8
8
§ 75
T

107 10% 10% 10 10 102 10"
[Mg?*] (M)

1873805681, 1
1573805682, 2
1573805685, 3

www.FirstRanker.com

18798056884 4
www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice : .
www.FirstRanker.com www.FirstRanker.com

RS gt 3 T F7 a1 Mg2* F15aT 9T ATP F99T92T & o207 S91
TiES (AG) #1 F¥TaT & 399 4% F =qT=aT FCaT 87

85
s
£B8
m 8 1
@75
y
7
107 10°® 10% 10 10 102 107"
[Mg*] (M)
85
:
=8
(2) g
13?5
)
107 10® 10% 10 102 107 10"
[Mg™] (M)
a5
E8
@ £
13 7.5
T
107 10® 10° 10* 107 10?2 107!
[Mg™] (M)
85
5
4 EB
(4) e
.~
é‘ 7.5
7

107 10® 10° 10 10 102 10!
[Mg?*] (M)

le¥ag0sesl. 1
1573805682, 2
1573805685, 3
15738056584, 4
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(1) Proline has high propensity to form o-helix 1n globular proteins
(2) Both 1soleucine and threonine can exist as diastereomers

(3) Side chain pKa of aspartic acid 1s more than the side chain pKa of glutamic acid

(4) The ¥ dihedral angle of proline 1s more restricted than the @ dihedral angle

1873805685, 1
1573805686, 2
1573805687, 3
1573805688, 4

=TT T | | F9 97 UF AHAT AT & q2H H qT 57
(1) AT &l ATATHE 2T H gl a9 6 37 739t 2T 21
(2) ATSATIHTT &A1 AT 291 ST AmET & &9 F§ 970 A7 T6d 2|

@) TETIEE A &1 9TE FEAT pKa 1@ 5% & 904 a1 pKa & gaq1 | sif=® gar
2l

(4) Tt 1 ¥ Bae #or @ fomer wror ff gemm 7 sifas wieEtaa gar g

1873805685, 1
1873805686, 2
1573805687, 3
1573805680, 4
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their deficiencies.
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Vitamin Disease
(1) | A (a) | Pernicious anaenua
(1) | Byz | (b) | Subdermal
haemorrhaging

(u1) | D (c) | Night blindness
(iv) | K (d) | Rickets

(1) i—cii—aii—d;iv-b

(2) i—cii—-biii—d;iv—a

(3) i—c;ii—a;ii—b;iv-d

(4) i—d;ii—a;iii—b;iv-d

1573805689, 1
1573805630, 2
1573805631, 2
1873805692, 4

www.FirstRanker.com

FataT Fer=eT &1 396 F97 T J4919T TA=a® T aat & ar e fireg

EEIGE] T

(i) A (a) JUITSTT TohTeT
(i) | Bz | () | ST TR
iy | D | () | T

(V) K | (d) | FETT
(1) i—cii—aii—d;iv—-Db
(2) i—cii—b;ii—d;iv—a
(3) i—cii—a;ii—b;iv—d
(4) i—d;ii—aii—-b;iv-d

1573805689, 1

www.FirstRanker.com
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1573805692, 4

The interaction energy between two opposite charges separated by 3A in vacuum is
-500 kJmol-!. The interaction energy between these two charges in water will be closest to

(1) -1500 kJmol-!
(2) -166 kJmol-"
(3) -55 kJmol-!
(4) -6 kJmol-!

18738056593, 1
1873805694, 2
1573805695, 2
1573805696, 4

fata # 3A g7 yawEa =1 At Araen & 7er AaaiEar et -500 kJmol! 21 51+ 7 3
=T AT & TEq AATFHAT ST (AR g
(1) -1500 kJmol-!
(2) -166 kJmol-'
(3) -55 kJmol-'
(4) -6 kJmol-*
1879805693 1
1879805694 2

1573805635, 3
15738056396, 4
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called bmar} 1ssion. During cell growth, WWW. FirstRanker.com www.FirstRanker.com

new peptidoglycan synthesis 1s required along with the hydrolysis of bonds linking the old

(1) peptidoglycan chains.

(2) new peptidoglycan synthesis 1s required but no hydrolysis of the old peptidoglycan occurs.

3) the old peptidoglycan 1s completely degraded and replaced with the newly synthesized

longer polymer.

(4) newly synthesized peptidoglycan 1s utilized to deposit a new layer of the peptidoglycan in
the cell wall.
18738056597, 1
187398056398, 2
1873805695, 5
18739805700, 4

?ﬁqwqﬁfi%'ﬂﬁgiff#W,fiﬁhWEWTFnﬂq‘ﬂfﬁﬂTitUﬂraﬁﬁ#fTéTiif%ﬂﬁ%ﬁréﬁTﬁ?qﬁ'ﬂﬁmT
T ETHTH0T ZTAT 21 ST Ihg F 27,

1) T IS RATEE T SaeTal d 92 a6 & AAATAST & ATT 19 77 IS RATEH T &l
T ATTSTHE 2|

) AT U RATZSERIT HT TEI0 ATTSTAE g, ATd0d T2 e FATSHT BT AAATHSA Tgl
Zrarl

T YfesiaATedm T50 aig o EEfed gr Smr g &fe 949 gy @ g« i\ O

3) FTa=qTad g1 ATaT 2|

@) T T Uf== AT T IUANT FAES T § e maT2 s & 98 99d & F9719 &
=T @ SiTaT 2
1879805697, 1

1573805698, 2
1573805693, 2

187 98sTI 4
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Phosphoenol pyruvate:sugar phosphotransferase system (PTS) transports a variety of sugars
mto bacteria. In E. coli, PTS consists of EL, EII (EITA, EIIB, and EIIC), and Hpr. During this
process the sugar molecule 1s phosphorylated by direct transfer of phosphate group from

(1) EI-P

(2) EllA-P
(3) ElIB-P
(4) Hpr-P

1573805701, 1
1873805702, 2
1873805703, 2
1573805704, 4

EIERIEATA JTE5ae: ST WERCARoA o= (Tera) siamy # @& s &1 9iag
FAT g1 2. Fiers 7 dieroa (PTS), El, Ell (ENA, EIB 747 ENC) & Hpr & =47 2raT g1 =9
T & =T ST A (F8eh WIEhT A1 F AT TATAIE0 21T WO 1 2T 2

(1) EI-P

(2) EllA-P
(3) EllB-P
(4) Hpr-P

18738057011
1873805702, 2
1573805703, 2
1873805704, 4

www.FirstRanker.com
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(1) Nt= Nox 2n
(2) No= Nt/2
(3) Nt/ No= 27

(4) No /Nt = 2n

1573805705, 1
1873805706, 2
1573805707, 2
1873805708, 4

g T I =T F A, a5 No, NE TF n FF90 IR TS 9918 T\, 99T 197

TATY AT, T4T 799 t § 241 H 941 F Gqad #7041 g, a7
(1) Nt= Nox 2n

(2) No= Nt/ 2

(3) Nt/ No= 2"

(4) No /Nt = 2n

1873805705, 1
1573805708, 2
1873805707, 2
1573805708, 4

www.FirstRanker.com
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l 1 tigf 855 response. bacteria -aynmmé a group of protems called stress proteins (or
heat shock proteins) such as DnaK, Dnal VOMEEIr6Hi3ERK e GAPE. DnakMw i ArsRandk@scom
protemn, which attaches to the newly synthesized polypeptide in conjunction with Dnal. Which

one of the following statements correctly states a step in the subsequent process of protein
folding?

(1) The affimity of DnaK to the polypeptide increases upon hydrolysis of the ATP to ADP.

(2) Dnal 1s an exchange factor that replaces ADP with ATP in DnaK

(3) ATP hydrolysis is;hrequired for the. phosphorylation of DnaJ

(4) ATP hydrolysis 1s requured for the phosphorylation of GrpE

18738057039, 1
1873805710, 2
1573805711, 2
1873805712, 4

AT AATeRAT o = F A9 Tidae T (FFaT 1T THT T2 19) AT AEA1 6 T9g o
DnaK, DnadJ, GroEL, GroES 7= GrpE & H5Hd #7d 21 DnaK 7@ ATP Irearr Jre
2, 9T DnaJ & 991ford 71 Gg[fud g eigs & S2a1 g Watdiad 997 § § S a7 U6
AIETT AT 6 ATAGT TIHAT o T F207 il IrAd 297 F ST Hoar g7

-

(1) DnakK @it 9ieid=T1z= & a1 F2ar ATP ¥ ADP & oA T=e 97 9T 2l

(2) DnaJ & f&fe T #17% 2 T Dnak § ADP &1 ATP & At qiaea1iad &ar g
(3) ATP SasT9eq DnaJ & RIERITeEH0 & o s394 2|

(4) ATP SesTee GrpE & WIERIT¥H (20T & [T 1999 2l

18738057039, 1
1873805710, 2
1873805711, 2
1873805712, 4

www.FirstRanker.com
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INCORERECT?

During prokaryotic transcription, DNA binding properties of RNA polymerase are altered

(1) by sigma factor

2) In eukaryotic transcription, synthesis of rIRNA, mRNA and some small RNAs occurs by
RNA polymerases I, I and IIT, respectively

(3) Sphicing observed i tRNA mnvolves successive/sequential cleavage and ligation reactions

while pre-mRNA splicing proceeds through lanat formation

mRNAs with premature stop codons are degraded by Nonsense-Mediated Decay (NMD)
(4) and mRNAs without an in-frame stop codon get accumulated and translated in the
cytoplasm.

18738057131
1873805714, 2
1873805715, 3
1873805716, 4

AT AT MRNA & I3 ¥ f=fag Fafeag #9491 9 7 217 a1 s\ 22

1) AT A Te® Aqead o 2o, RNA Tiferaes & DNA aree & 07 89 1 #eE geT 9ratad

2T 2l

@) THATEF aqaad |, IRNA, mMRNA 75 52 2i¢ RNAs &1 9997 ##sT: RNA Tiferssr
|, 17T Il 377 gET 2

) tRNA # 9fard o9 aeT | SATa@HE/ATadl [dadq a497 a6 T SiHe g Sais I9-
MRNA T 98T 579 & AT=99 T grar1 2

" AUF 71 TEe I MRNAS AGTE-TeaeT S99 (TATAST) ST ATHHT gid g a9 Ti5d

T 9= Tigd MRNAS F=FT g1 F1d & U HI13a=T § Aqa1=d af 91 gl

15738057131

1573805714, 2

1879805715 3 www.FirstRanker.com
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Which one of the following regulatory protemns can act as a positive and negative regulator on
binding to the same DNA elements?

(1) Lac repressor (Lacl)
(2) Lambda (cI) repressor
(3) Ara C protein (AraC)

(4) Trp repressor (TrpR)

1873805717, 1
1573805718, 2
1873805713, 2
1573805720, 4

et Famas T 5 O S 99T S ST SRS HETEE & = F 79 DNA deat &

(1) % =99% (Lacl)
(2) =T (cl) TH9F
(3) Ara C 9129 (AraC)

(4) Trp =79 (TrpR)

18738057171
1573805718, 2
1873805719, 3
1873805720, 4

www.FirstRanker.com
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(1) SUN domain proteins
(2) BAG domain proteins
(3) PAS domain proteins

(4) TUDOR domain proteins

18738057zl 1
1573805722, 2
1873805725, 3
1573805724, 4

TeeeT AT AT & A=t 7 S 2
(1) SUN W& Wi
(2) BAG W= Wi
(3) PAS &= TTE

(4) TUDOR w&= 92t

15738057211
1873805722, 2
1573805725, 2
1873805724, 4

www.FirstRanker.com
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variety of post-translation modifications sWVAVKSIRIPRABKEREEI acetylativiyaMdihstRaRKSH.COM
Which one of the following post-translational marks on histone tails 1s usually associated with
transcriptional repression?

(1) Acetylation of H3K9
(2) Methylation of H3IK9
(3) Acetylation of H4K5

(4) Phosphorylation of H3S10

18738057251
1873805726, 2
1573805727, 3
1573805728, 4

=fa=arard | F7 =M &t SH A @79 v @ REnRA e, T e S
#tafr s @Ay e waagae aatEdar o @9t gt 81 Bem == 1w
et Ta-aae Tt § T 519 A7 I3 ATadiT 299 F G492 2raT 27

(1) H3K9 =T ufatestimeor

(2) H3K9 =7 Afeferesmer

(3) H4K5 =T miarfesfiaor

(4) H3S10 #T RIERITATRL0T

1873805725 1
1873805726, 2
1873805727, 3
1573805728, 4

www.FirstRanker.com
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(1) Epinephrme receptor
(2) Transferrin receptor
(3) Glucagon receptor

(4) Thyroid stimulating hormone receptor

1873805725, 1
18738057320, 2
1573805721, 2
1573805722, 4

et & & w7 G-1de qftwa et aat 272
(1) ufusieT ot
(2) e ATt
(8) vl ATET

(4) AT JE(IF I ATEr

157380572591
1873805730, 2
1573805731, 2
1873805732, 4

www.FirstRanker.com
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A\ g of puce Which are genetically 1 tical except for a single genetic locus or region
id to b

(1) Syngenic

(2) Allogenic

(3) Congenic

(4) Heterogenic

1873805733 1
15738057324, 2
1573805735, 3
1573805736, 4

HOF % 2T A=, ST UF UShed AN ATHH AT ST B SISH AINTF =7 T T97 3, Tl

(1) weereT
(2) AT
(3) e
(4)  Eua=fEs

1873805733 1
1873805724, 2
1873805735, 3
15738057326, 4

www.FirstRanker.com
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(1) Progesterone

(2) Estradiol

(3) Thyroxine

(4) Prostaglandin

1873805737, 1
1873805738, 2
1573805729, 3
1573805740, 4

FRefortes gar-giora graET § & F19 97 UF S0 G99 ATal & a7 5y £ q5a7 272
(1) e

-

-, kY]

(2) =z
(3) amEwiEFT
(4) wrEETETTET

1873805737, 1
1573805738, 2
1873805739, 3
1873805740, 4

www.FirstRanker.com
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1) They cannot activate nearby cellular proto-oncogenes after integration into the genome of
the host cell

(2) They lack an oncogene
(3) They exclude mouse mammary tumor viruses

(4) They have acquired mutations during acquisition of an oncogene

18738057411
1573805742, 2
1873805743, 2
1573805744, 4

HE-TRareasd AT 1 S IEEHT EETrE 7 e avg e g2

IT9F FHISTHT & ST A GATHAT 219 & a2, T W =9 Ffsrhm aEr-ag==ar &7

(l} — ) s -
(AT T ®¥ Hohd

(2) ITH T A=A H AATT 2T 2

(4) FH SAGEAIT Bl ATH Heed 6 219 Atoid Icd<add 21d g

15738057411
1873805742, 2
1873805745, 3
1573805744, 4

www.FirstRanker.com
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(1) superficial cleavage
(2) displaced radial cleavage
(3) bilateral cleavage

(4) discoidal cleavage

1873805745, 1
1873805746, 2
1873805747, 2
1573805745, 4

FEH Al AT T 2
(1) PEIRREET L

(2) ga=Tiaa 4T fo=a

(3) fEurdT o=

(4) EEICREEER]

1873805745 1
1873805746, 2
1573805747, 2
1573805748, 4

www.FirstRanker.com
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(1) totipotent
(2) pluripotent
(3) multipotent

(4) unipotent

1873805745, 1
1873805750, 2
1873805751, 2
1573805752, 4

TATETEN GUT T HIEHTET ATEAT il ATATC FHITERT THE DT HITAHIT 2T &
(1) qUiSThAT AT

(2) ATEHITHAT FTAT

(3) AT ATAT

(4) THHETHAT AT

15738057451
1873805750, 2
1873805751, 2
1873805752, 4

www.FirstRanker.com
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A Autophagy occurs when cells contain ¥ datest Raikek com www.FirstRanker.com
B. Autophagosomes fuse with any organelles

C. Autophagosome 1s a smgle membrane structure

D. Autophagosomes fuse with lysosomes to form autophagolysosomes

Which one of the following combination of the above statements 1s correct?

(1) Aand B
(2) Band C
(3) Cand D

(4) Dand A

1573805753, 1
1573805754, 2
1873805755, 3
1573805756, 4

TATISAT TIFAT H FATHT g F9F A+ (20 0

A. TEATSAT 2T g S FITSTRTAT H AHFAT T2 g 2l

B. TraeAsTT [T 9 % AT getad grd 2

D. THAAETT T AAATTERAT T 91T & AT ATAHTA] & AT TeATad 20 2l

T AT & AT AT J H i AT Ao g7
(1) ATITB
(2) BT C

(3) CaarD

(4) D 74T A

1573805753, 1

1873805754, 2

879805755 3 www.FirstRanker.com
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Which of the following factors 1s known to be involved in postponing programmed cell death in
cereal aleurone until endosperm mobilization 1s complete?

(1) Gibberellic acid
(2) Abscisic acid

(3) Acidic pH of the vacuoles

(4) cGMP mediated signal transduction pathway

1573805757, 1
1873805758, 2
1873805759, 3
1573805760, 4

Trrafertaa Frst 5 9 39 a9 ezl | g SifsE 99 & E@eaq & ™0 S 9w g,
ST T GUITT § A T Al gf SIrar?

(1) IEEMEETE )
(2) T T A
(3) THLTEAT &7 A+ pH

(4) cGMP H=TeT Tehe TTERHT T

15738057571
1873805758, 2
1573805753, 2
1873805760, 4

www.FirstRanker.com
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(1) Ribulose 1,5-bisphosphate to 3-phosphoglycerate
(2) 1,3-bisphosphoglycerate to glyceraldehyde-3-phosphate
(3) Dihydroxyacetone phosphate to fructose 1,6-bisphosphate

(4) Ribulose 5-phosphate to ribulose 1,5-bisphosphate

1873805761, 1
1573805762, 2
1573805763, 3
1573805764, 4

Terferfara sibamst § & Fie d7 Hioar-awae =oh it A= STTEAT F =20 2t 27
(1) fra=re 1,5-Faewiohe o 3-woRiRaae

(2) 1,3-Fewfeniame o Faavfeege=-3-wihe

(3) STEEE A UHIEM WEhe T Wa=ra |,6-Taewion

(4) Fraars 5-wiohe T FaaTs 1,5-Fowiohe

1873805761, 1
1573805762, 2
1573805765, 3
1573805764, 4

www.FirstRanker.com
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(1) Quiescent center

(2) Endodermis
(3) Rootcap
(4) Elongation zone

1573805765, 1
187380576E, 2
1873805767, 3
1573805768, 4

sig & Heferiaa am § & 19 a1 7 TEcarhuor H1 8/ L4 § a7iHe g2
(1)  w9rid &z

(2) Famd
(3) AT
(4) ErHTHCOT &=

1873805765, 1
1573805766, 2
1573805767, 3
1573805768, 4

While screeming an EMS-mutagenized population of a plant, a researcher 1dentified a mutant
with reduced gibberellic acid sensitivity. Which one of the following proteins 1s most likely to
be defective m this mutant?

(1) Sucrose non-fermenting related kinase 2 (SnRK2)

(2) Constitutive triple response 1 (CTR1)

(3) Phytochrome mteracting factor (PIF)

(4) Coronative-mnsensitive 1 (COI1)

18798057638, 1 www.FirstRanker.com
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1879805772, 4
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TF UTET 6 EMS-Ieaiafda #EfE @it s @ 29, UE SEwal 9 499 Seeiew e
TAZAAAT Il IeATEad] & Tgar & Fafetag T@Et 9 9 &9 vF 5 20 seatadr |

(1) Te-fov=fad gaier gatad @eqaa 2 (SnRK2)

(2) Tesa EfatEaT 1 (CTR1)

(3) TRTEETH STaeiwar ®F (PIF)

(4) Tt e -Aaa=Tsii= 1 (COl1)

1873805765, 1

1873805770, 2
1573805771, 2
1873805772 4

Vascular wilts are wide spread and destructive plant diseases. The symptoms of this disease are

primarily caused by the clogging of

(1) xylem vessels

(2) phloem vessels

(3) stomata

(4) hydathodes

1573805773
1873805774
1873805775

LS8 I VR

b

i

www.FirstRanker.com
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TAgT aA FAT TF SATIE A7 SATHET IR g1 26 T & @90 999 &9 o &8s
ATEZ EH F FEMZA &

(1) T AT Tt
(2) FATIH ATTEaRTAr
(3) T

(4) AT

18738057731
1573805774, 2
1873805775, 3
1573805776, 4

Which one of the following 1s NOT true in the process of acclimatization to high altitude?
(1) Respiratory alkalosis

(2) Increased 2. 3-DPG i RBC

(3) Rise mn pH of cerebrospinal flud

(4) Increased cytochrome oxidase in tissues

1873805777 1
1873805778, 2
1573805773, 3
1873805780, 4

www.FirstRanker.com
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(1) STE oA [T
(2) AT 7 J51 gg 2, 3-DPG

(3) THfETEHE =7 % pH 7 3=

(4) A% H =AZT ZAT ATZE(RME AFHIEH

1873805777 1
1873805778, 2
1873805779, 3
1573805780, 4

The sodium-mdependent 1odide/chloride transporter 1s named as
(1) megalin

(2) pendrin

(3) transthyretin

(4) prestin

1873805781, 1
1873805782, 2
1573805785, 3
1573805754, 4

www.FirstRanker.com
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(1) AT
(2) gfvz
(3) T e
(4) PIE=C

1573805781, 1
1873805782, 2
1873805785, 3
1573805754, 4

Which one of the following synaptic vesicle proteins 1s mnvolved in tethering of the vesicle to
the cytoskeletal system in the nerve terminus?

(1) Synaptotagmin

(2) Synapsin

(3) Synaptophysin

(4) Synaptobrevin

1873805785, 1
1573805786, 2
1873805787, 2
1573805788, 4

www.FirstRanker.com



- | REaEET] ST R

www.FirstRanker.com www.FirstRanker.com

AT H ST 22

(2) Rl
(3) =
(4) IEREAFIER]

1873805785, 1
1573805786, 2
1573805787, 2
1873805788, 4

Which one of the following hormones 1s responsible for mobilizing calcium from the bone and
mereasing urinary excretion of phosphate?

(1) Calcitonin
(2) Angiotensin IT

(3) Parathormone
(4) Vasopressin

1873805789, 1
1873805730, 2
1873805791, 2
1873805792, 4

www.FirstRanker.com
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T2 & T ST 22
(1) Fieaa=T
(2) Uﬁramﬁ—rr.; T Il

(3) PRI IEIL

(4) ERIRITL

1873805789, 1
1573805730, 2
1873805791, 3
1873805792, 4

In summer squash, whate colour fruat (7) 1s domunant over yellow colour (w) and dise-shaped
phenotype (D) 1s donunant over sphere-shaped phenotype (d). Determune the genotype of the
parents if the cross between white, sphere crossed with white, sphere gives 34 white, sphere and
Y yellow, sphere.

(1) WWDD = wwdd

(2) Wwdd x Wwdd

(3) WwDd x wwad

(4) wwDD = WWdd

1873805783, 1
1873805794, 2
1873805795, 2
15738057396, 4

www.FirstRanker.com
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AAMTET (D) TATHT TATTET (@) T7 TATAT Z1 ATHT F ATTAY ﬂﬁ“ﬂll  F7, A= A6

TATATHTT. T HFZI] AH= TATHIT & AT % HER TTATHIT AT Yo TTAT AT 24T 2

(1) WWDD = wwdd

(2) Wwdd x Wwdd

(3) WwDd = wwdd

(4) wwDD = WWdd

1873805733, 1
1573805734, 2
1873805795, 3
15738057396, 4

What 1s the probability of getting a sum of 9 from simultaneously throwing two dice?

(1) 116
(2) 1/8
(3) 1/9
(4) 1712

15738057971
18738057398, 2
1573805733, 2
1873805800, 4

www.FirstRanker.com
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(1) 1/6
(2) 1/8
(3) 1/9
(4) 1112

1873805737, 1
1873805798, 2
1873805799, 3
1573805800, 4

In context of DNA methylation, which one of the following statements 1s FALSE?

Generally, methylation occurs at the 3" carbon position of cytosine and converts it to 3-

(1)

methyleytosine

2) Maintenance methyltransferase acts constitutively on hemmumethylated sites and converts
them to fully methylated sites

3) During mammalian gametogenesis, the genomic methylation patterns are erased in

primordial germ cells

(4) Replication converts a fully methylated site to hemumethylated site

1873805801, 1
1873805802, 2
1573805803, 2
1573805804, 4

www.FirstRanker.com
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ATATAGIT U7, ATGH0T ATEerdT & 39 Faq & Fqfa 97 gar g &7 !

(1) 5 _ . .
3- Af=aTEE T § a2 94T 2

@) ATAT ATIACTHRLA TH5d 7 T ATATAATT T4AT U7 F Fam g AT IT60 I00
HiE a TFAT H a2 20T 2

(3) TAMETENT HAEGAAT & 210, AATHE ATAATHLT FTAATT TIAATT AT DT J AT

(4)  wfoptaae ot afEeisd = F adaqE=iET =99 § F29qT1 2

1873805801, 1
1573805802, 2
1873805803, 3
1573805804, 4

Interacting genes which are involved in producing continuous variation mn phenotypes in a
population are known as/constitute

(1) codominant genes
(2) pseudogenes

(3) alleles
(4) QTLs

1873805805, 1
1573805806, 2
1573805807, 2
1573805808, 4

www.FirstRanker.com
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STHT ATGT /AT a91dT1

(1) TEWHTET S

(2) FEA T
(3) THEEwAT
(4) QTLs

1573805805, 1
1573805806, 2
1573805807, 2
1873805808, 4

Which one of the following plants has this combination of key plant traits: sporophyte
donunant 1n the lifecycle, vascular tissue, lack of seeds?

(1) Mosses
(2) Ferns

(3) Cycads

(4} ]'VI-DHDQ ots

1873805809, 1
1573805810, 2
1873805811, 2
1573805812, 4
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(1) HqEw

(2) e

(3) qTEH=
(4) LEEIERE]]

k]

1873805803, 1
1573805810, 2
1573805811, 2
157380581z, 4

Which one of the following plants has a bisporic, 8-nucleate, bipolar embryo sac development?

(1) Oenothera

(2) Penaea

(3) Plumbago

(4) Allium

15738058131
1573805814, 2
1573805815, 2
1873805816, 4

www.FirstRanker.com
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(1) HETATIT
(2) fifaar
(3) THATT
(4) T

18¥3a805813. 1
1873805814, 2
1573805815, 2
1573805816, 4

www.FirstRanker.com

Which one of the following show complete metamorphosis 1n all three orders?

(1) Coleopterans, Dipterans and Hymenopterans

(2) Coleopterans, Hymenopterans and Orthopterans

(3) Dipterans, Lepidopterans and Henupterans

(4) Hymenopterans, Lepidopterans and Orthopterans

1573805817, 1
1573805818, 2
1573805813, 2
1873805820, 4

www.FirstRanker.com
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(1) FITeraT= d, T 74T gEH A=
(2) FIASATE H, GEH AT T4T A=

(4) AT, AT T4T A= q

1873805817, 1
1573805818, 2
1873805819, 3
1573805820, 4

Cnidarians are

(1) triploblastic animals with bilateral symmetry.
(2) diploblastic animals with medusa as one of the basic body forms.
(3) monoblastic organisms with tube feet.

(4) asymmetric organisms with tentacles contaiming poison glands.

1573805821, 1
1573805822, 2
1573805825, 3
1873805824, 4

www.FirstRanker.com
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(1) femTf=da a T a6 e s are Jrof
(2) AT HIARAT H 3 U AZAT o0 (Gea i1 SgraiT arel qToit
(3) ATATTE o6 UEHEa< (7 g rai ard s

(4) TIsTeRT T ARt I EA T o

1873805821, 1
1573805822, 2
1873805825, 2
1573805824, 4

In a lake, reducing the population of a fish which feeds on plankton was followed by a decline
m the rate of primary productivity. Tlus 1s consistent with which one of the following
hypotheses regarding the regulation of primary productivity?

(1) Bottom-up control
(2) Eutrophication

(3) Top-down control
(4) Trophic pyranud

1873805825, 1
1573805826, 2
1873805827, 2
1573805828, 4

www.FirstRanker.com
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(1) Fieq-7 fFE=m
(2) ERIER]

(3) TIT-=Ta T
(4) T A

1873805825 1
1573805826, 2
1873805827, 3
1573805828, 4

Which one of the following was recently reported to be the first mammal to have become

extinct as a result of chimate change?

(1) Bramble Cay melomys — Melomys rubicola

(2) Gangetic river dolphin — Plaranista gangetica

(3) Malaga gant rat — Hypogeomys antimena

(4) Tapanuli orangutan — Pongo tapanuliensis

1873805829, 1
1873805820, 2
1573805821, 2
1573805832, 4

www.FirstRanker.com
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(1) FFAA o HIAHH — HIFHET SFFAT

(2) AT =T &l ST — 2 7e2r A9

(3) HAT HTHEHT 98T — ZTTTi a8 ufozaar

(4) TIAT AR — F197 Foqle 01T

15738055829, 1
1873805820, 2
1573805821, 2
1573805832, 4

The ratio of varance 1n male mating success (Vw) to varnance in female mating success (Vi) 1s
strongly male biased (Vw>Vi) 1 species P, strongly female biased m species Q (VéVw) and
sitmilar mn species R (Vu=Vs). All else being equal, which one of the following matches between

species and mating systems 1s most likely?

(1) P-monogamy;, Q-polyandry; R-polygyny

(2)  P-polyandry; Q- polygyny; R- monogamy

(3) P- polygyny; Q-polyandry; R- monogamy

(4) P-monogamy; Q- polygyny; R- polyandry

1573805823, 1
1573805824, 2
1573805835, 2
18738058326, 4

www.FirstRanker.com
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TLHFTAH (Vi>Vy) €, Q TITTd F T9h =9 4 A121 & 94 9 (VeVp) 8 39T R T91d J G490
(Vm=V5) Z1 Tt =T THTH BT, T7 TAMAAT AT G0F G370 & 919 matetay Haatn 5 & & ar

(1) P-U#FETH; Q-AgA<ar; R-agsaar

(2) P- @ga=ar; Q- ag==ar; R- THETET
(3) P-=g=rar, (- "Fg7ar, R- TR ERTH
(4)  P- THEATHAT; Q- AgSAAGT; R- qgAAr

1873805832 1
1573805834, 2
1873805835, 3
1573805826, 4

An interaction where the actor and the recipient both suffer a cost 1s referred to as

(1) Altruism
(2) Cooperation

(3) Mutualism

(4) Spite

1873805837, 1
1573805838, 2
1873805829, 3
1573805840, 4

www.FirstRanker.com
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(1) PRAFETIEGI
(2) GECTU
(3) R EAIRI]
(4) e

1573805837, 1
1573805838, 2
1573805833, 3
1573805340, 4

The frequency of homozygotes 1n a diploid population 1s 0.68. Assumung that the population 1s
m Hardy-Wemberg equilibrium, the frequencies of the two alleles are

(1) 01and 09

(2) 0.2 and 0.8

(3) 0.4 and 0.6

(4) 0.5and 0.5

1873805841, 1
1573805842, 2
1573805845, 2
1573805844, 4

www.FirstRanker.com
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=T AT T 6t Argia mﬁﬂ_

(1) 0.1 74970.9
(2) 0.2 797 0.8
(3) 0.4 497 0.6

(4) 0.5 491 0.5

15738055841, 1
157380584z, 2
1573805843, 2
1873805844, 4

Which one of the following statements CANNOT be mcluded while defining the fermentation
process?

(1) Alcohol 1s formed from sugar residues
(2) Requures an electron transport system.
(3) Utilizes an organic compound as the final electron acceptor

(4) Produces lactic acid in oxygen deprived muscle

1873805845, 1
1573805846, 2
1573805847, 2
1573805848, 4

www.FirstRanker.com
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(1) Aohlge STl ATTITET H F94T g
(2) T TAGEI AT a7 A5 TF ghavl g

(3) FTE A ATRE HT SUANT AAH SAFEIA TTal & =9 F Zrar

(4) AT = 9T 7 dla=sh A Icariad &l gl

1873805845, 1
1573805846, 2
1573805847, 2
1573805848, 4

Which one of the following does NOT use RNA-sequencing?
(1) Mapping transcription mitiation sites

(2) Long non-coding RNA profiling

(3) Alternative polyadenylation profiling

(4) Mammalian epigenome sequencing

1573805845 1
1873805850, 2
1573805851, 2
1873805852, 4

www.FirstRanker.com
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(1) AqAET TEFA THA HT A A G0

(2) = ez RNA TTeRTE e
(3) ST T T TS (e 9T FTRTE feqer

(4) TATHTNT Z IS A AqHAT

15738055849, 1
1873805850, 2
1873805851, 2
1573805852, 4

Agrobacterium fumefaciens 1s frequently used as a vector to create transgenic plants. Under
laboratory conditions Agrobacterium — mediated plant transformation does not require

(1) host plant genes

(2) bactenial type IV secretion system
(3) VIr genes

(4) opine catabolism genes

1873805853, 1
1573805854, 2
1573805855, 3
1573805856, 4

www.FirstRanker.com
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(1) TTHT 9T ST
(2) EIEILEIEREARVEZ IERGE]
(3) VirsieT

(4) ATITZA AT A

1873805853, 1
1573805854, 2
1573805855, 3
1573805856, 4

The T-DNA region of the T1 plasnud of Agrobacterium tumefaciens harbours two genes: X and
Y. Mutation of gene ‘X’ produces a rooty tumour while mutation of gene “Y" produces shoots
m the tumor. Based on the above information, which one of the following statements 1s
correct?

(1) Gene ‘X’ encodes auxins and gene “Y’ encodes cytokmins

(2) Gene ‘X’ encodes cytokinins and gene Y’ encodes auxins
(3) Gene ‘X" and gene “Y" both encode auxins

(4) Gene ‘X’ encodes opines while gene “Y” encodes cytokinins

1873805857, 1
1873805858, 2
1573805859, 3
1573805860, 4

www.FirstRanker.com
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21 T ATHIEN & AT U, WEtaiadg #4971 § % a1 T2 27

(1) ST X AT 7 Fe &9 AT g i S Y ATEErETE M & Fied F9aT 2

(2) ST X TTEEIERTE (el T Fied FeaT g & oife Y’ A= &7 Fied FaT1 2

(3)  Sfte X T St Y 2T st w5 meT e 2

(4) S X SATTTEE & Fed AT £ Aaih o 'Y ATSZHE T & F2d HedT 2|
1879505857, 1
1879805858, 2

1573805853, 2
1873805860, 4

In electron microscopy, to detect specific macromolecule or structure such as spindle pole body
(SPB), the frequently used procedure 1s to couple secondary antibody with

(1) Alexa 568
(2) Cyd
(3) Gold particle

(4) Osnmuum tetraoxide

1573805861, 1
1573805862, 2
18738058ES. 3
18738055864, 4

www.FirstRanker.com
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(1) AT 568

(2) Cy5

(3) T T

(4) A eI ZZTFETE S

1573805861, 1
1573805862, 2
1573805863, 3
15738055864, 4

A researcher samples » individuals randomly from a population of blackbuck and 1dentifies
their sex. The number of females 1n the sample follows

(1) an exponential distribution
(2) a binomial distribution
(3) a Poisson distribution

(4) a normal distribution

1873805865, 1
1573805866, 2
1573805867, 3
1573805868, 4

www.FirstRanker.com
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(1) e R G IEAN EL R

(2) e et fAaem

(3) T TIAET Eaeer

(4) U AT faaer

1873805865, 1
15738058686, 2
1873805867, 3
1573805860, 4

If you inject a mouse with radioactive material of current activity of 256 Bq, what will be the
activity after completion of 6 half-lives?

(1) 4 Bq
(2) 8 Bg
(3) 16 Bq
(4) 24 Bq

1573805865, 1
1873805870, 2
1873805871, 2
1873805872, 4

www.FirstRanker.com
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(1) 4 Bq

(2) 8 Bq

(3) 16 Bq

(4) 24 Bq

1873805869, 1
1873805870, 2
1573805871, 2
1573805872, 4

Which one of the following statements related to molecular cloning procedures 1s
INCORRECT?

5" overhangs of restricted DNA fragments can be blunt-ended by Klenow polymerase but

(1) not by DNasel.

2) A DNA fragment obtained as an Xhol fragment (C| TCGAG) may be ligated at the Sall site
(G|TCGAC) 1n a vector.

3) To prevent self-ligation of a vector digested with Kpnl (GGTAC |C), alkaline phosphatase
enzyme 1s used to remove 3'-POy groups from the ends of fragments.

@) a-complementation/blue-white screening may produce blue coloured recombinant colomes

(contamning cloned fragments) in case of translational fusion with the p-galactosidase gene.

1873805873 1
1573805874, 2
1873805875, 3
1573805876, 4

www.FirstRanker.com
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gfaatera DNA T9=T % 5 Toiad aqial Teia<s gTeT AATHSI-[47T a7 a9 g o

(1) .
DNasel g1 7 g1

@) Xhol @92 (C1 TCGAG) & *9 ¥ WTH U® DNA @92 U 2% | Sall ¥4« 9¢ AT 21
aFHaT 2|

3) Kpnl (GGTACLC) & 9Tf=a Ts ITgH & Ta-AA7ae" & TEd & (o0, AT Hiehed
USTEH &1 IUANT @Uei & & & 3'-P O, THET $T g2 & o & siar 2)

(4) C-TTH IO /ATAT-HEE B8 A BAAFEIATESS ST & SAAAT2T HeAdT & AIHA 7 At

IR (a8 (FA19 [T 7 G0 I=F) Ioad 2 9Fhal 2l

1573805873 1
1873805874, 2
1573805875, 2
1873805876, 4

In a neuron, proteins and membranes are primarily synthesized in the cell body. These materials

must be transported down the axon to the synaptic region using nucrotubules 1 an anterograde
fashion. Such axonal transport 1s directed by

(1) Dynein

(2) Kinesin

(3) Dynein and Kinesin I
(4) Myosin

1873805877, 1
1573805878, 2
1573805873, 3
1873805880, 4

www.FirstRanker.com
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(1) S ECE]

(2) FIEATHA |

(3) STEAT T9T FEATET |

(4) HATATEA

1873805877, 1
1873805878, 2
1573805879, 3
1573805880, 4

Fart C Life Sciences
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nucleotide sequences, and configuration ofWaNeFH Stizan Kise@Mn these ppMifel SiRankeficom
of the following statements defines a correct combmation for A and Z forms of DNA?

Right handed double helix and anfi-configuration for the base to sugar arrangement in A
DNA; and left handed double helix with alternating sequence of G and C (as a general
pattern), and alternating syn- and anti- configurations for the base to sugar arrangement 1n
the Z DNA.

(1)

Right handed double helix and syn-configuration for the base to sugar arrangement in A
(2) DNA; and left handed double helix with alternating A and G sequence (as a general pattern),
and anfi-configurations for base to sugar arrangement m the Z DNA.

Left handed double helix and anfi-configuration for base to sugar arrangement in the A
(3) form DNA and right handed double helix and syn-configuration for base to sugar
arrangement in the Z form DNA_

Left handed double helix and syn-configuration for base to sugar arrangement in the A
(4) form DNA and right handed double helix and anfi-configuration for the base to sugar
arrangement for the Z form DNA.

1873805881, 1
1573805882, 2
1873805885,
15738058584, 4

www.FirstRanker.com
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Z =91 % HE1 AT &l TrATud FHear 27

A DNA & a1 & st5T & e & fom sfg-a=00 797 sfamad GgsaT, s G s C &
(1) THIATLT AAFHH F AT AHIEA [2F7=a (TF a8 924), 799 Z DNA § 9= 9 s T+
T Ui Sy ST Aia-Aea0

A DNA # &1 9 o187 & faema & T syn-a=am 3497 Stemmad gosad, 797 TRiaea A &7
(2) G A HH F ATT FTHTTS (§FT=A (TF ATAT T24), 7aq Z DNA # o177 srda7 fomams & o

PICE R R

A =7 DNA # 917 & stéar Taeama & o0 Sfa-a=0 997 aEad agrsad 1aq Z =7 DNA

(3)
qTE H STl TaeTd & o syn-asaor 3497 =fEaad egrvsad
@) A =7 DNA 7 517 7 ardher Tamams & o syn-=991 97 ammas fagrsaq o971 Z =7 DNA F =

AT | STohe] e & Fd-Ja907 a7 ZTomad fagosad

1873805881, 1
1873805882, 2
1573805885, 2
15738058584, 4
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S0 r

o i o
(Pl /’—/_'
30 /

0 15 30 45 &0 75 90
Tirme (seconds)

Which one of the following statements 1s the correct mterpretation of the data?

(1) The Ky, and Vi, of the enzyme “X” are 15 and 60 units, respectively.

(2) The Ve 15 60 but the Kw cannot be deternuned

(3) The K., 15 15 but the V., cannot be deternuned

(4) Neither the K, nor the V., of the enzyme ‘X’ can be determuned from these data

1873805885, 1
1873805886, 2
1573805887, 3
1573805880, 4

www.FirstRanker.com
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Tt aa w1 § | = A7 BT 6 Al AT FIAT 82

(1) ToEd K F Ky #7 Vinax ®997: 15 797 60 F9=a1 21

(2) Vmax 60 g, 757 Koy &7 freri=or 721 5 =7 Jam

(3) Km 15 2, T7F Vmax &7 Fe=ioor 7gi fhar sir d®an

(4) = Al | mared X & T E Ky 37 T 81 Vingy &7 9= f&ar 51 /%4t 21

1873805885, 1
1573805886, 2
1573805887, 3
1573805888, 4
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X Y
A Pauling electronegativity (1) | Charge separation
B. Isolated m-orbital overlap (1) | Solvation of atoms
C. Aromaticity (111) | Restricted rotation
D Dhielectric constant (1v) | Planarity of molecules

Which one of the following 1s the most appropriate match?

(1) A=1, B-1wv, C—u, D-i

(2)  A=iii B—ii C—iv, D-i

(3) A=ii B-iii C—iv, D-i

(4) A=w, B—u C-1, D-m

1573805889, 1
1573805890, 2
1873805891, 2
1873805892, 4

www.FirstRanker.com
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X Y
B. | Tawms n-wefiw aftmmrmm | (i) | T o EEIEEIRE]

Tratertaa 5 7 #17 a7 aaiias =g q74 g7

(1) A=1, B-w, C—u, D-m

(2) A=m, B-u C-iv, D-1

(3) A=un B-m C-1v, D-1

(4) A=iv, B—ii, C—i, D-—ii

1873805889, 1
1873805890, 2
1573805891, =
1573805892, 4

www.FirstRanker.com
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(a) Unordered structure 1s observed m water but a helical conformation is observed in medinm

of low dielectric constant.
(b) The peptide 1s resistant to degradation by proteases.
(c) Red blood cells are lysed by the peptide.
(d) P-mercaptoethanol has no effect on peptide structure.

Which of the following statements can be correctly attributed to the above observations?
(1) The peptide 1s entirely composed of D-amuno acids and 1s amphipathic.

(2) The peptide 1s entirely composed of L-amuno acids and 1s not amphipathie.

(3) The peptide 1s rich i disulphide bonds between D-cystemes.

(4) The peptide 1s entirely composed of L-aromatic amino acids.

18738058393, 1
1573805894, 2
1573805895, 2
1573805896, 4

www.FirstRanker.com
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(c) =Tt e FHITIFTT T=T5S FT A4 gral g
(d) B-wE=redaia & T=Igs 9797 97 HIg TATT 721 2047 2

THefeaa w91 § | ®iq A7 3T AA0 F ATT Al q9g § A9 9T 2 AFAT 2 7

(1) Te=1gE quied | D-srHiAT ST # 7491 gra1 g ST ag TEEdia® 2

(2)  Treres T & Lot st F AT 24T 2 9 A vt ad 21

(3) T=res D-FeT & A STeaenEs 941 9 495 T 2|

(4) TETEE TUET A LT e A 7 491 2T 2

1873805833, 1
1573805894, 2
1873805895, 2
1573805896, 4
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B form of DNA has ~10 base pawrs/turn and A form of DNA has ~2. 3A helix rise per base

pair
B. Both the A and B form of DNA have wider major groove and narrow minor groove

C. The crystalline nature of cellulose 1s brought about by o (1— 4) linkage between the
glucose subunits.

D. The double bonds in natural lipids are always cis, which provides fluidity to the
plasma membrane.

Which of the following combinations represent the correct statements?

(1) Aand C
(2) Band C
(3) AandD

(4) Cand D

1873805837, 1
1573805896, 2
1873805899, 2
1573805300, 4
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DNA —:Frgtﬁq:hrqsg W?‘“‘T‘W MWM@FIR&HKE Cfgh iﬂ\%v_r@%tRanker,com
DNA % A 797 B =191 =971 5 372 379 @1 37 9% a9 == 219 2|

SreiTr o e T e T o (1> 4) s v A g
WTEHTd® TAT A (299 729 OIS 2T 2, TN T5oq (oo | & 7oadl T=219 F7d 2l

Trraferfaa Far=et 7 7 B9 T80 991 F S9ar g7

o o o oF

(1) ATaTC
(2) B =T C
(3) A=arD
(4) Caar D

1873805897, 1
1573805896, 2
1573805898, 2
1573805300, 4

www.FirstRanker.com



=‘I :1 OEB! ?%ﬂnt)k@’agug% EDI’:E‘I.E ﬂ.ﬂnmmlhlﬂ stranded DNA (that had been incubated in

I

standard buffer) on native gels revealed th¥¥helifSRARKQREOM their phy AW JrhtstRanker.com
(tetrameric nature of the protein and double stranded nature of the DNA). Following hypotheses
were made for the effect of adding hugh salt to the incubation mix and subsequent analysis on

native gels.

A The protein would nugrate as a homotetramer and DNA in double stranded form.
B. The protein would nugrate as a monomer but DNA in double stranded form.

C. The protein would nmigrate as a homotetramer but the DNA in single stranded form.
D. The protein would mugrate as a monomer and the DNA 1n single stranded form.

Which of the following combination of hypotheses 1s most likely?

(1)

(2)

(3)

(4)

Aand B

BandC

Cand D

Aand D

1573805301, 1
1573805302, 2
1573805303, 2
18738053904, 4

www.FirstRanker.com



:I lﬁﬁmﬂ:&%%%mDNA (Forar w6 e § rowrfae e wram) &1

e P RO s FiraRanRERO T 22w i SRR CHTES <o
qﬁ)%aﬁwﬁﬁ?ﬁr%{l ST (5o § Ata® srawr e 9< g atet I979 ST 399 978 WTHaE
stat % fAgar & forg Fafeartas afmwerand dam & w2
A. WIE griee™T & ®9 | a1 DNA 2 = =9 # sttswfsa gem)

B. WIE AT & &9 § uig DNA 2 T5[% #7 # atswriHa grem
C. WIET gHee™T & =9 # gig DNA UFa To5(® &9 9 ATHHT gl
D. Y& AFMMHAT & %9 # 79T DNA UHd T5(F &9 § AT AT g

gRweuaTaAt & Fafatas g & @ #9 a7 gaifas gearfag 22
(1) AF=aTB
(2) BaarC
(3) CTaTD
(4) ATETD

1873805301, 1
1573805302, 2
1573805303, 2
1573805304, 4

www.FirstRanker.com



:1'E$E?!?¥%§E$%£A%I§|§IEI Eugmgr-‘ of chromatin in eukaryotes. Followmg statements

I . -
are made about nucleosome: www.FirstRanker.com www.FirstRanker.com

A Generally, a typical nucleosome contains ~200bp of DNA and two copies of each histone
(H2A. H?B, H3 and H4)

B. 146 bp length of DNA per nucleosome core particle 1s strictly maintained across the
Organisms

C.  The lustone octamers are not conserved during/after replication, however, H3:—H4»
tetramers are.

D.  Vanants have been identified for all core histones except histone H3

E.  While wrapping around the core histones, the structure of DNA 1s altered at the nuddle
of the nucleosome core particle and exhibits increased number of base pairs per turn

Which one of the following combination of statements 1s most appropriate?
(1) A CandE
(2) A BandD
(3) B.DandE

(4) A CandD

1573805305, 1
1573805306, 2
18738053907, 3
1873805308, 4

www.FirstRanker.com
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A ATHETEEE 97, UE qrEraE AfaaraE & DNA & ~200bp & g=rs 2=m (H2A, H2B, H3
T4T H4) &7 =7 Fiaa1 gt 2l

T Sat 7 Fid g w1 &0 7 DNA & 77312 146 bp 3=at & &+t w24t 2

i sAlg=Ae AaFaW & S\/31% | a06d 9g1 1gd 8, warw H3,—H4, === 77 2

H3 =™ & sw=mar /1 F17 FFemi & o (asqr & 929719 &< «1 7% 2|

m o 0w

HI¥ TEErAl & F0 A Argwiord sed 794, DNA &7 §7=41 I 41919 ®I7 &0 & 727 |
FAAT o (AT FATAT H 7 T A7 TIHAE ST 67

(1) A CdaE

(2) A BaarD

(3) B,DAaTE

(4) A CTarD

1873805305, 1
1573805308, 2
1573805307, 3
1573805308, 4

www.FirstRanker.com



:I l E I{'E- %qul}ll',}as %‘gpha';e 1s tl‘_r,, regulated. This 1s possible because:

www.FirstRanker.com www.FirstRanker.com
A APC/C promotes ubiquitination of S-phase cyclins and mutotic cyclins, marking them for

proteolyses at the mitotic exit.
B. Cyclin Bl helps in the activation of S-phase CDKs only in late G1.

C. As mutotic CDK activity declines in late nmutosis, cdel4 phosphatase activates APC/C by
dephosphorylating Cdh1, thus promoting formation of APC/C4!.

D. Securin keeps S-phase cyclins in inactive state till late G1.

Which one of the options represents all correct statements?

(1) Aand B
(2) AandC
(3) Band C

(4) Band D

1573805305, 1
15738053910, 2
1873805311, 2
1573805912, 4

www.FirstRanker.com
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A. APC/C, S-a=ar arsiaadl @< a9a=T ATsaad1 & AT =rAsTd ® a89d Hed g, SAHl aad=r

e o mifzaraTstaT & o &g 559 2
Arsiaaa B, S-sra=ar CDKs & A7 § 757 &= 3909 G'1 # =47 2
C. == &t = aueEt f@arew # aaasts CDK afear # &6 adr 2, cdel4 sees

FEwresErgda Cdhl g APC/C =t #fea wwar g, 39 avg APC/CCIM & awa & afdd FIar
2l

D. ssa S-sr==ar arsfaadl & 396 G| 3% F0T Fae47 § 470 73471 2

Trefertaa Eaeai § & ®17 J7 750 a1 FIA1 B T=190 F2a1 27

(1) ATarB

(2) AFarC

(3) B 79T C

(4) BaarD

187ag05303. 1
18738053910, 2
15738053911, 2
157380591z, 4

www.FirstRanker.com
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::I l‘digggpgogﬁglr%tﬁ ma‘;_[eg E}T’t&gsll;re!i in the cytoplasm are imported into the nucleus

through the nuclear pore complex (NMMWVeldi§tRAMKES CORRse protalfyWehiksHRaMER&EOM
Localization Signal (NLS) that direct their selective fransport into the nucleus. This nuclear
mmport requires:

A

B.

(3)

(4)

A small monomeric G-protein Ran.
A nuclear transport receptor that interacts with the NLS on a cargo protein.

A GTPase activating protein (GAP) bound to the chromatm tethered to the nuclear
membrane.

A Guanine Exchange Factor (GEF) bound to the chromatin inside the nucleus.

Which one of the following options represents all correct statements?

ACD

B, C only

A, Conly

15738053131
15738053914, 2
1573805915, 2
1873805916, 4

www.FirstRanker.com
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FIEAT | waenid =qraimem @a (NLS) ZraT 2 51 5% # I7® F49ida s\ a0 &7 AFEs 5edl 2|

A,

B
C.
D

ek o FATATAL0 ATa 1 W1 Hrer Areite 92 NLS & 57 Aeie=iehar &2ar 2|
et 2ol 7 99 g0 @THieq 7 997 Uk GTPase #iwa T qrEe
T o a7 wIATe o 9T OF AW Jeaa wews (GEF)

formfertaT el § & &1 A7 T 721 FAa1 51 T290T FAT 27

(1)

(2)

(3)

(4)

Faa B. C

Faa A, C

1873805313 1
1573805914, 2
18738053915, 2
1573805916, 4

www.FirstRanker.com
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:I l El'._z" tRa rgr!ée r n:au';es mild gastro-mntestinal symptoms. To move from

one host-cell to anr:-ther it pr:-lymenzes activtbistbtankeilaam structuraV WitkHS HRanker.com
assemble host-cell actin at 1ts rear end because:

A Tasteria has on 1its surface a protemn called Act A
B. Listeria can activate Arp 2/3 complex

C. Listeria has on its surface y-tubulin

D. Listeria has on its surface myosin I motor

Which one of the following options represents all correct statements?

(1) Aand D
(2) Aand B
(3) AandC
(4) C and D

15738053171
18738053918, 2
1573805313, 2
1873805920, 4

www.FirstRanker.com
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|E~i

% ferm, Irg mw%’%ﬁﬁiﬁaﬂ#ﬁﬁ#ﬁrﬁ“ﬁ mﬁﬁﬁ’f"%ﬁ'ﬁ@a&f*&ﬁiom
TTHE-HIAT & Uia=d Hl THT &7 AHal g FAM1H;

A. Forezfa &t /a2 97 Act A 919 UF 91209 21T 2

B. fewefar Arp 2/3 d%= &1 afea &7 a%a1 21

C. ToeivaT &t &dg 7% y-=Igi giarn gl

D. =t &t Jag 7= amia || 7= g@T 2

Terafoiad [Emedl § | &19 A7 T4 JE1 FAA1 F A2A5T Far 27

(1) ATarD
(2) ATarB
(3) AFarC
(4) CaarD

1573805317, 1
1873805918, 2
15738053919, 2
1573805320, 4

www.FirstRanker.com
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A ﬂJlEFiigllig: 0spho a 1c’rures i Dacteria and archaea differ. Which one of the

following correctly states the dlfferences Maadi isR@aRicer.com www.FirstRanker.com

(1)

(2)

(3)

(4)

The bacterial membrane phospholipid consist of D-glycerol linked to hydrophobie
chains (tails) with ester bonds whereas those of the archaeal membranes consist of
L-glycerol linked to hydrophobic tails through ether bonds.

The bacterial membrane phospholipid consist of L-glycerol linked to hydrophobic

chains (tails) with ester bonds whereas those of the archaeal membranes consist of
D-glycerol linked to hydrophobic tails through ether bonds.

The bacterial membrane phospholipid consist of D-glycerol linked to hydrophobic
chains (tails) with ether bonds whereas those of the archaeal membranes consist of
L-glycerol linked to hydrophobic tails through ester bonds.

The bacterial membrane phospholipid consist of L-glycerol linked to hydrophobic
chains (tails) with ether bonds whereas those of the archaeal membranes consists of
D-glycerol linked to hydrophobic tails through ester bonds.

1873805321, 1
15738053922, 2
1573805325, 3
1573805324, 4

SHATY ST ATHAT 7 T=eed | BIERods JeaqT0 (4 gidf 2| [Haietad # & ®iq J7 0491 % o= (eara
& Ty wgt F99 27

(1)

(2)

(3)

(4)

STEATTE T Eeetl BERITT9E, 5527 89 =6 A 301 gaara (T=al) 2 D-Faaaa @ 797 2
Wi, AT A=A & GERATIS 97 990 510 Saiani T=al § 92 L-Faa<i= 9 7974 g

AT et SER=Ts, S5 a9 I aaa e gaara (T=a1) 9 92 L-Faaa aaqqa g
AT, AT A=A F BERNATIS 97 F97 510 Tt T=ai 7 72 D-Faaia 7 gq7q 2

sttaTorEta et wewitaids, 297 a97 grar s«ianit ga@ara (7=a0) & 32 D-Faawia & a97d g,
FaTh ATHAA [ Ted ] 5 BIERATIES 2727 a9 Gl SAidamil T=ai o 9= L-Faa<i= 9 94 2

AT Bl SERIATE, S99 99 I SAld el gasral (T=a0) 9 9= L -Faaeiq 4 594 2,

A ATHaA (Headl & BER- WHET StRaEmKereom T 7=21 9 92 D-Faai« 7 a4 2
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B cEirstranker's choice
1879805922, 2
1879805923, 3
1879805924, 4

www.FirstRanker.com www.FirstRanker.com

Deletion analysis of a promoter region of a gene was carried out to identify the regulatory
elements in 1t. In the figure below, the filled boxes denote the areas of deletion and the
observed activities (in arbitrary units) of the promoter are as shown.

=300 -250 200 -150 -100 50 Activity
—+—1+—
I—" WT promoter; no deletion — 100
I 5 5 5 100
—— 175
I 175
! ’ ! 5
I 0

Based on the observations, following statements were made:

A The region between -100 and -50 houses a positive regulatory element.
B. The region between -200 and -250 houses a negative regulatory element
C. The region between -150 and -200 houses a positive regulatory element.

Which one of the following options represents the correct interpretation of the data?

(1) Both A and B

(2) A only

(3) B only

(4) Both B and C

1573805325 1
18738053Z26. 2
1573805327, 2
1873805928, 4

www.FirstRanker.com
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# ar

A AR AT Icexm_ﬂfﬁﬂmﬂmﬁWﬁWﬁ_ﬂTWIFﬁ?ﬁﬂﬂvm
T Feer =TT & &1 792 5o § AWM P IRER KRS (mafar WSt 55 tRatker.com

-300 250 -200 -150 -100 -50 |—~A-:IMW

I'_" WTprumuter no deletlc.'-n —|

TET T AL 97, == w99 3977 o
A. -100 == -50 F &= & &= # aq1HF [HaTHT 92F 2|

B. -200 =¥ -250 & == % &= § FITcAE [HATHF =4=F 2|

C. -150 = -200 F #1= & & | gTcHF (FATHS T8 2|

Traterfaa Eaea § 7 F17 A7 AwsT & T8 AT ®Iar g ?

(1) =T A 74T B

(2) F99 A

(3) Fa9 B

(4) =T B 747 C

1873805325, 1
1573805926, 2
1873805927, 3
1573805928, 4

100
100
175
173
50
50
0

www.FirstRanker.com
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RNA polymerase ITI synthesises mRNAs in the nucleoplasm

B. The target promoter for RNA polymerase III 1s usually represented by a bipartite sequence
downstream of the transcription start site.

C. The assembly factors TFIIIA and TFIIC assist the binding of the positiomng factor
TFIIIB at the precise location.

D. TFIOB 1s the last factor that joins the mitiation complex.

E. Phosphorylated Ser residues i the C-ternunal domain (CTD) of RNA polymerase II serve
as binding sites for mRNA processing enzymes.

Which one of the following options represents the correct combination of the statements?
(1) A BandC
(2) B.Cand E
(3) B.Dand E

(4) A CandE

1873805329, 1
1573805320, 2
1573805321, 2
1573805932, 4

www.FirstRanker.com
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(A) RNA =its== |l AiF=ar=rr=1 ¥ mRNAs agfua #7a1 2|

(B) RNA ===l F fom 5 9ad® arawaa: sia-ad TeTs o049 F d9aaTg 9 (9= a9F8
FTET WaET {5 =T 2
(C) ==rsr® #rew TFIIA 797 TRNIC e w17 97 Fafa w= TFIIB &1 ata= § 95T 579 21

(D) TFIIB sfa® ®1ea g &1 Frei=a Ai69 § =47 2|
(E) RNA ==+ || % C-F==1 5= (CTD) # wrew=iga Ser @xsa mRNA s v=zat &
T Fa =T & =9 § ® Fd 2

Tafertad [E®edi § § ®iq A7 HAA1 5 Al AATA H F=1979 Hear g 7
(1) A BaarC
(2) B.CaarE
(3) B,DFaTE

(4) A CTaTE

187380539291
1573805330, 2
1873805921, 2
1873805922, 4

www.FirstRanker.com
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www.FirstRanker.com www.FirstRanker.com
3l
5:
(i)
5I
3|

Based on this information, following statements are made:

A (1) represents the leading strand whuale (11), (111) and (1v) represent the Okazaki fragments.

B. Among the Okazaki fragments, synthesis of (1v) occurs prior to the synthesis of (1) and (11).
C. Among the Okazaki fragments. synthesis of (11) occurs prior to the synthesis of (111) and (1v).

‘Which one of the following options represents the correct statement(s)?

(1) A only
(2) B only
(3) Aand B
(4) Aand C

1873805323, 1
15738053924, 2
157380539325, 3
15738053326, 4

www.FirstRanker.com
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3!
5!
(i)
5!
3I

A (i) =3 o= &1 w=isa Fwar g wat® (i), (i) &7 (iv) srerarh @vei & 95ida w54 )
B. srsrerrt @v=t H, (iii) & (i) % =@gaor & 99 (iv) &1 Jgaor a1 2

C. =rwrameht @i 4, (iii) &= (iv) & Fgor & 99 (i) F1 Jgaor Zrar )

Trafefaa fEweai # & &19 |37 7921 99 (FAA1) HT T2199 ®earg?

(1) FaT A
(2) Faa B
(3) AFITB

(4) ATarC

1873805323, 1
1573805924, 2
157380539325, 3
1573805326, 4

www.FirstRanker.com
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=33RSI l‘g%%&%& 5}1!&? g Eﬁucjigal.cI}E!tRNA synthetases (aaRS). These organisms lack

that use Asn or Gln (as one of the sibstytEE)SidRaliket e@ifoacylat vl RIR&EKer.com
and tRNA®" respectively. Which one of the following statements represents the correct option?

(1) The orgamisms lacking AsnRS and GInRS lack Asn and Gln 1n their proteins.

In these orgamisms, selected Asp and Glu residues in the proteins are post-translationally

(2) modified by a regulated mechanism.

In these organisms, the tRNAA* and tRNAS™ are first aminoacylated by AspRS and
(3) GIuRS, respectively, and then the Asp and Glu attached to the tRINAs are modified to Asn
and Gln, respectively.

In these orgamsms, the precursors of mRNAs that encode AspRS and GIuRS are

(4) alternatively spliced to generate AsnRS and GInRS.

1573805337, 1
1873805928, 2
15738053929, 2
1573805340, 4

ATERIS (1 Fa=r 18 AH = Ha-IRNA Fazs (aaRS) 1 =+ ®7d g1 39 a1 7 aaRS &1 #7917
zrar g =1 t(RNAAS & (RNAGN & Jered s =i tersdaon & o wmae: Asn ar GIn (T U stansas

F T H) T ITAM ®ed g1 Teietad F991 # 7 ®i9 931 (aweq w1 290iqar g7

(1) AsnRS #iw GINRS & s=a avet siat & Fr2iai # Asn &7 GIn &1 #=ma grar g

T WAl #, AT H FAaa Asp & Glu SasiT Haniaa FhEaT 377 TE-Aaraig 5 F s g

(2) e

G

= wiat 7, tRNAA siie tRNASH wwsr: ASpRS #tw GIURS 31T 92 sifauiafasd 3 2,
(3)

e 39 a2 tRNAS & 5=17 Asp siiT Glu ®#si: Asn s GIn # =71a1 21 =14 21
@) za sirar 7, MRNAS & et 5T AspRS #i= GIURS &1 #1=7 %7d g, AsnRS #i= GInRS #1

ITTH FOA & [0 AHled® o7 § AHGHAET gl 2l

1579805927 1
1879805938, = www.FirstRanker.com
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Ribosomes prepared from a bacterium were fractionated by sucrose density gradient
centrifugation (panel 1) to separate the 30S, 508 and 70S populations. When the rbosome
preparation was incubated individually with either elongation factor-G (EF-G), or a newly
identified protein X, or GTP, the profile remaimned unchanged. Likewise, no changes were seen
m the profile when the ribosomal preparation was incubated with EF-G + GTP or protein
X + GTP. However, when the nbosomal preparation was incubated with protein X, EF-G and
GTP together, it resulted in a change of profile which showed a decrease of the 70S peak area
and increase in the peak areas for 30S and 50S (panel 11).

(i) (1)

70S 508

g g
< 50S D
| T 308 70

30S

m|——> ml—>

Choose the option that defines a correct conclusion from the observations.

(1) Protein X 1s an anti-association factor which functions in the presence of EF-G and GTP

(2) Protein X 1s a dissociation factor which functions in the presence of EF-G and GTP

(3) Protein X binds GTP

EF-G 1s known to bind GTP, hence 1t can be concluded that the effect of GTP 1s through

4) EF-G and protein X does not bind GTP.

15379205941, 1
1879805942 2
1879805945 2
1579805944 4

www.FirstRanker.com
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308, 508 == 70S AraTi=at S AAT-FAT F & (77 ST F FATE (0 T T THH F1 GHIH T
TAAT AT (I i) F7 Foriera R @m o7 AEa aeasm & g9y 532G (EF-G), ar
T Tl TgAT @ g At X, F9ar GTP, # a9 99%-99% ST 56T 9T, 99 ATRed § HiE
TTATT Aol gl THI ALg, TTEIEA H e FaaA1d Al 1a@l, 7q WiHa wearam & EF-G + GTP &
et X + GTP & |arq S 5T 79 gi=ris, 7 agaEm wai giear | q9eta X, EF-G #iw
GTP @r uF a7 HaT1she A AT 4T, 99 T65d | Tradd gar, sir 70S f$mE< s | &1 a9
308 = 50S & fsra< =1 # Feg &1 =917a1 g (T i)

(i) (i)
- 708 . 508
< 50S <
T T 30S 708
30S
m|—> ml—>

ST Al (Howd i IATST ®eed arel ([dwed &1 949 Sl

(1) FiEtd X UF - ®ew g 91 EF-G 3T GTP &t 3Tf=aia | &4 &®ar g

(2) wiZia X UF Adg &1 g 91 EF-G #iie GTP &t 3uieqia # & &ear 2

(3) wietd X, GTP = a7=dT 2|

EF-G, GTP &1 aig+ & o1 |41 9141 2, &a: g Ay fAawrar =1 a&har g & GTP &1 9919

4)
{ EF-G & #1=aw & giar g @41 7ietq X, GTP &f 7gf ar=ar 2|

18738053841, 1
1873805942, 2
1573805345, 2
1573805944, 4
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0 mvmgﬂfz?t%ﬁ&ﬁ rxf"e%@ fifde about thewosiFiratRaptenebprocessing wiRNArstRanker.com
eukaryotes.

A Soon after transcription mitiation, RNA polymerase IT pauses ~30 nucleotides downstream
from the site of imtiation until the Cap structure 1s added to the 5° end of the nascent pre-
mENA_

B. The 5” splice sites are functionally divergent whereas the 37 sites are functionally equivalent.

C. In addition to helping in recognition of the splice sites, the exon definition also functions as
a splicing regulator by allowing pairing and linking of adjacent 5" and 3” splice sites.

D. The intron definition mechanism apphies only to the larger introns (above 500 nucleotides
length) and assists in achueving alternate splicing.

E. The sphicing reactions carried out m vitro have revealed that the first and second
transesterification reactions are reversible.

Which one of the following combination of statements 1s correct?
(1) A BandD
(2) B.CandD
(3) B.DandE

(4) A CandE

1573805345, 1
1573805346, 2
1573805347, 2
1873505948, 4

www.FirstRanker.com
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A. wfteias aroeq g & gid a1s, RNA gi=a || 9150 =19 9 ~30 ~fa=serss aqaarg 92 99

% g<dl g, 74 % 1o "aa1d Ta-MRNA F 5 T8 7 Zrdt #2371 949 7 gf 717 |

B. 5 #H&EwA #« ®ATHERA L T ATH gid 2, 5aish 3 70 HAcHHalL T2 a7gT aid 2

C. woeaee #a=1 %1 TgATH ¥ AGEAAT ®ed & A1, TFar Haieh qaq 5’ &t 3' 912 #+A1 & TFAA
TAT HATHA =l TR BT (ST (HATHE & =7 H AT &1 Fed g

D. gz fagiew afwar #aar a2 szai (500 ~fawaerss @wns & @fg®) 92 §f @6 gt g s
THTeT® AT TIHAT TFIA Foed H AZAAT Fd1 gl

E. sf=w aiasfta &t 712 sEra wiears 2aidt £ fF gt #ie g8t gasediihae Ay SoRavi
ARLEL
FHAAI o (M (iad aare H § & a1 qgt g7

(1) A BagrD

(2) B, CTarD

(3) B. DaarE

(4) A CTFaTE

1573805345, 1
1573805346, 2
1573805347, 2
1873505948, 4
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3|
5|

A On the right side of the dotted line, leading strand synthesis occurs using the upper strand as
the template.

B. On the right side of the dotted line, leading strand synthesis occurs using the lower strand as
the template.

C. A ligase deficient (lig™) mutant would affect replication of the upper strand on the left side
of the dotted line.

D. A ligase deficient (lig™) mutant would affect replication of the lower strand on the left side
of the dotted line.

Which one of the following options represents the combinations of the correct statements?

(1) AandD
(2) Band C
(3) Band D

(4) Aand C

1873805343 1
1573805350, 2
1573805351, 2
1573805352, 4
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A. Tavg Tar & TEAT 0%, ST T5(F Bl 2PTAe & o9 § STANT Fd g7 ST T=(F ®1 A9 a1 gl
B. TEvg v@&T & =1igdl ae%, M= To® &f 2Pl & o7 | ITA0T ®ed U AU To® T a509 giar 2l
C. reere g4 (lig™) STataa® favg TaT & 18 0% S99 T & Ad a7 & TATET BT

D. @rzara g9 (lig ™) Seatvad® favg 76T & a1% a9 (=« To)® & AdeT B TATaT BT

Tefeitaa AFeTl § o ®iF a7 F491 % gl GAra41 B T5199 Fear g7
(1) AFar D
(2) B a1 C
(3) BaITD
(4) AT C

18738053945 1
1873805350, 2
1573805351, 2
15738053952, 4

www.FirstRanker.com
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[ r : '
bacterial infections. Given below are somWwiWiEi fetianiceve@nh are appMeaiteHiss tRamkel.com

mfections.

A Humoral immune response 15 the main protective response against extracellular bacteria.
B. Innate immunity 1s not effective against intracellular bacterial pathogens.

C. Bactenial endotoxms do not mnduce an innate immune response.

D. Intracellular bactenial infections generally induce a cell-mediated immune response resulting
in secretion of cytokines which activate macrophages.

Which one of the following combination of statements 1s correct?

(1) Aand B
(2) Band C
(3) Cand D

(4) AandD

1573805353, 1
15738053954, 2
1573805355, 3
1573805356, 4

www.FirstRanker.com
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A, TEM-TEwF o= FTa AT aTg[RiierhT Sarie & (9os 99F qoaTAs T a1 21

B. sesiTa ATd<sT ATl 9Thi= SaTora 14 LTSIl o (4% 141 qal gl gl

D. daeTRITsrhT SaTwaia JFAT ATEATAT BET-AETET AiaeET Fiatear ® 9 w9 2,

FAAT & (AH o ad Saraql # & &iq 91 961 g7
(1) ATarB
(2) B 79T C
(3) CaarD
(4) ATaTD

1573805353, 1
1873805954, 2
1873805355, 2
1573805356, 4
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Column Column B
A
A Serotomn 1 Binding activates a G-protein which activates or inhibits an
enzyme that generates a specific second messenger and opens 1on
channel

B  Interferons |1  Binding causes receptor monomers to dimerize. Dimeric receptor
then mteracts with and activates one or more cytosolic tyrosine
protein kinases

C  Glycme 11 Binding changes the conformation of the receptor so that specific
1ons flow through it

D  Insulin 1v  Binding leads to activation of mtrinsic tyrosine kinase activity

Which one 1s the correct match?

(1) A-1,B—i1;C—iti; D—1v

(2) A-1;B-u;C—1w;D—1

(3) A-m;B-1wv;C-1:D-u

(4) A-1wB-1C—u;D-m

1873805357, 1
1573805358, 2
1873805958, 3
1873805960, 4
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nke’rqvgﬂm‘rm B # wfgart & a1 &t g=1 af 1% 2

wrw-HrstRanker-com WAARATH
FAT A w9 B
A AR Faaw G-ATE F1 AT ®2aT g 5 % vF vS e &

TR FATT AT Fwal g 51 AtIre BT a2aaws
ITA FAAT g AL AT A F ATAAT 2

THET Tod e TTal UheAsh o [5AhI R0 F1 HIL0T F447 g
Toadt ATET TFF AT% AFATI 6T FIAT g ST T AT ATew
ATZE A (o ZTA AT T2 FIATd H AT H2dT 2

C o 3;1- Tv iii EF-‘EF—T“I'EEI'H‘II%T%-"IIHU Eh—f e EE E“% 3 a4 di'-“:ll q
EIEE BERENES R ED
p | ¥ jy | T TETE S ST FIGAN (HAT F AT FAT
EL
o # ®i AT AA J51 27

(1) A-1;B-u;C—1m;D—1v

(2) A-1u;B-m; C—1w;D-1

(3)  A—iiiiB—iv:C—i:D—ii

(4) A-1wvB-1C—u;D-m

1573805357, 1
1573805358, 2
1573805353, 2
1873805960, 4

fstRanker.com
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=I l (.'}E#Ialt %ﬁl@e&iﬁ% jone anntger and to extracellular matrix through their cytoskeleton

and this imparts strength and rigidity of tiwwW snitStRamk eMER DT the aniwinw dtitdtiR@nkesecom
types of cytoskeletal filaments, which are listed in Column A= The possible functions are listed
m Column B.

Column Column B
A
A Intermechate |1 Determune the shape of cell surface and are necessary for cell
filaments locomotion

B Microtubules | 1 Mamntamn the position of membrane- enclosed organelles and
provide infracellular transport

C  Actm ni  Provide mechamical strength of a cell
filaments

Which one 1s the correct match?

(1) A-1B-1uC—1m

(2) A-1;B-1:C—-m

(3) A-m:B-1u;C—-1

(4) A-1m;B-1;C—-1u

1873805961, 1
15738053962, 2
15738053963, 3
1573805364, 4

www.FirstRanker.com
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A 2 2, o FiaA" A H v aw 3| Furtaa &9 w49 B # Fraw

HiH A Fi=H B
A HEEEdl g i THITSIRT HAg o ATHIT HT (G TAT HIIHT TATAT & (A7
p e | TS st i et T sAeeeor a9 siqeRifahiy
THEgT T FATAT 2
S RUEES L i ITSTET HT ATT=AH STi<h F=1H Hed 3|
FeAAsmaT AT Al 27

(1) A-1B-1uC—1m

(2) A-1;B-1:C—-m

(3) A-m:B-1u;C—-1

(4) A-1m;B-1;C—-1u

1873805961, 1
15738053962, 2
15738053963, 3
1573805364, 4

www.FirstRanker.com



=I A LDE}E&E&S&E_“; =i Eﬁg{‘;gmsuuger which 1s released from the neurons. After release they
diffuse across the S'j,mapnc cleft and combiwWyith shRaiikeraeemficholine WyethirstRanier @om

the membrane of the postsynaptic cell. The mnteraction of acetylcholine with the micotime
acetylcholine receptor produces large transient increase in the permeability of the membrane to
specialized 1ons resulting in signal transduction for nerve impulse. Acetylcholine receptor 1s a

(1) ligand-gated cation channel
(2) ligand-gated anion channel
(3) voltage-gated cation channel

(4) voltage-gated anion channel

18738053965, 1
1573805966, 2
1573805367, 2
1573805368, 4

TiHTEARIo T TATAT aradT g, 5 =20 § =1 gral ¢l "0 THTq F Aq919d (457 & 977 (99T
AT g T T G HITITRT 1 (Soei{ § (RIS Th TITEARITd ATgl AA & AT F4h gl AT 2
Tl H U 309 hHTAE Icqd Hial g (978® TOTHEGST diaml AT & [0 Hehd TIRA 2067 2 |

(1) TATHT-ETTA ST 39

(2) TATH-ETTA T a9

(3) FreeT-gTd gaTaT 39

(4) FTeaw-ZITd A a4

1573805365, 1
1873805966, 2
15738053967, 2
1573805368, 4

www.FirstRanker.com
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ECE 3 Erekcgnssg‘ %[ﬁ“;&l% mice and first generation F1 nuce were obtamed, 1.e.

(A x BIIFI A scientist then m]plamted thyemeisiRank ef-e@fted (A x WYPWVhiFsHRaRKkep.com
type thymus and then reconstituted the ammal’s immune system with an intravenous mfusion

of (A x B)F; bone marrow cells. The chimeric mice were infected with Iymphocytic
choriomeningitis virus (LCMV) and the spleen T cells were then tested for their ability to kll
LCMV-mfected target cells from the strain A or strain B muce.

Which one of the following 1s the correct outcome of the experiment?

(1)

(2)

(3)

(4)

LCMV-infected target cells from strain A only will be killed

LCMV-infected target cells from strain B only will be killed

LCMV-infected target cells from both strain A and B will be killed

MNeither cells from strain A nor from stramn B will be killed

15738053659, 1
1873805970, 2
1573805971, 2
1873805972, 4

g9 A 9T+ 9 & 99% B a9 92 & |19 |awiva o w9 uget i t % Fy 92 e, auiq

(A x B)F,| =9 @75 dA1+® & ATeAaT=aiaa vadq =woa (A x B)F, Jgf § B-9% &7 915899
T AT 57 67 (A x B)Fy &1 S5 571 ST & 991550 srad & a0 ot & S
T ® T R wEiEE =281 & SewEEies aiaAieaated @y (LCMV) 7 #wisa

FATAT AT TAT WATZT T HITIHTAT BT 7T &7 T w 7695 A 91 95= B 921 % LCMV dwiwa wfam
FITSTRTAT T A & (o7 5T 747 |
Trefertad § & &I a7 9907 J 979 Jgf TH g 7

(1)

(2)

(3)

(4)

A 79= A Ft LCMV =T = SISm0 AT |

a1 79= B #t LCMV-=&#a =& SISm0 AT |

=1 AR A ST B #t LCMV-5#aa =5 ®ifsesrd /e st

T Z 9T A & 7 & w97 B 7 wifsew a st

www.FirstRanker.com

15738053659, 1
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1573805972, 4

The anterior-posterior compartment of each segment of Drosophila 1s defined by wingless and
engrailed genes. The following statements are given towards explaining their regulation:

A Wingless 1s a secretory factor
B. Engrailed 1s a secretory factor and forms a long-range concentration gradient

C. Engrailed regulates Wingless through Hedgehog which forms a short-range concentration
gradient

D. p-catemin homologue 1s the signalling molecule upstream of Engrailed, which gets cleaved
by GSK3 homologue

E. Cubitus interruptus 15 an ntracellular signalling molecule in the Engrailed expressing cells.

Which one of the following options has all the correct statements towards the regulation of
anterior-posterior compartment of segments?

(1) B only
(2) C only
(3) Band E

(4) A CandD

1573805373 1
1573805974, 2
18738053975, 3
1873805976, 4

www.FirstRanker.com
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Wi SATEAT & o0 e feiad a9 = g

. U= g % ATEAH & (G &l [MATHT Feam g AN AG-TA7 T5d] Tq0a7 WiHd FaT g

. BT FHETT TS % SEa9aTel UF dehad A9 g, 7 o GSK3 #wea g [EEtea 2T 2

m o O ©

. Ti=S AT9=Th HITSTRTA § T Fred=d T AALTRITSH T FThae A7 2
Tratertas Ewedl 4 9 e @21 & guadi-ogad] 969 & Haa & =0 g a8 599 27

(1) F79 B
(2) Faa C
(3) BaaTE
(4) A CaatD

15738053731
1873805974, 2
1873805975, 3
1573805976, 4
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A During the course of commutment, the cell may not appear different from its nearest or most
distant neighbours in the embryo and show no visible signs of differentiation; but its
developmental fate 1s restricted.

B. At the stage of specification, cell commutment 15 not labile.

C. A cell or tissue 15 determined when 1t 1s capable of differentiating autonomously even when
placed mto another region of the embryo, or a cluster of differently specified cells in a petri-
dish.

D. Cytoskeletal arrangements maintain positioning of nucle1 i the syncytium, which enables
specification of these nucle1 by opposing morphogen gradients namely Bicoid and Caudal in
Drosophila.

E. Capacity for “mosaic” development allows cells to acquire different functions as a result of
interactions with neighbouring cells.

Whuach of the above statements are correct?
(1) A BandC
(2) B.CandD
(3) C.Dand E

(4) A CandD

1873805377, 1
1573805978, 2
1873805979, 3
1573805380, 4

www.FirstRanker.com
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A % ZreT, o A o AW Fir First %nker .com Fﬁfﬁv%%ﬂrﬁga%%om
AEAT g AT (TS F1 B2 599 AD FE] (=T, T AR (AR ATy Hpi=d gf v g |
B. fatsrted=m & d=war #, FierdT Aiaagar Tieaddsii= a2i 204 2|

C. wrtsr®T a1 Fa® faaita grar g, 99 9 7=Ew =9 9 G957 %99 % 909 g1 ¢ ag1 9% & 99 a5
g\waﬁ?ﬁf%ﬁ#awqﬁﬁﬂﬂﬁﬂwﬁﬁﬁrﬁqﬁmﬁﬁﬂm%mﬁnﬂﬁﬂﬁmwa

D. FISITIST 1 Tave AR(sT H ol i (Eqiaa1 ® g0 TGd 2, J1 SEMTEAT 4 AT5hIes 797 FIea
ATHT ATHRIAT TANATA FT [HL0T FLd §0 3 Hah! & (A1STBTHTIT HI TGH T4 2
SO AT H A RiA-H Al 27

(1) A BFarC
(2) B,CaarD
(3) C,DTaTE
(4) A CTarD

15738053771
1873805978, 2
1573805973, 2
1873805980, 4
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morphogen, activin on cell fate by placing activin (4 nm)-secreting beads on unspecified cells

from an early Xenopus embryo:

A Beads without activin did not elicit expression of either Xbra or goosecoid genes.

B. Cells nearest to the beads getting highest concentration of activin induced goosecoid gene
whose product 1s a transcription factor, specifies the frog’s dorsal-most structures.

C. Cells nearest to the beads getting highest concentration of activin induced Xbra gene whose
product 1s a transcription factor, specifies the frog’s dorsal-most structures.

D. Cells farthest from the beads getting negligible activin activate Xbra gene and become
blood vessels and heart.

E. Cells farthest from the beads getting negligible activin, activated neither Xbra nor goosecoid
and the ‘default” gene expression instructed the cells to become blood vessels and heart.

Which of the above observations and conclusions drawn are correct?

(1) A BandC
(2) B.CandD
(3) C.Dand E

(4) A BandE

187ag0sasl. 1
1873805982, 2
15738053985, 2
1573805954, 4

www.FirstRanker.com
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AT il TIMAT-ATHTT TATT T AT F9d & o0 Oigziad (4 nm)-A751 F TF TG99 7 7

TorT 10 AT TSTTOFT RITSTERTAT 9% T Uk T (AT 47T, (576 a1 | [HH6d §5 w99 (307 0 2

A. TiE=TE 72T A9l 7 Xbra #9131 goosecolid si=T | 7 Tt i ST ATs=1i=% 721 39775

B. A & e A=Al &SI &1 goosecold Sia qia Uiaeiad @i 37 Aisar (#=1, s 39=

C. 791 & ¥z Jr=t ®istwraAr w1 Xbrg 5ia 9T wiasta o 35 Jr=ar =51, [5aF 3097 #aF &l

D. 71 7 7a4 37 fegqa swifsrwra &1 Xbra siia A6 F3d Jre 7979 Uiaziad e & % arigsn
TIT Z=4 &

E. #9%1 7 53+ 57 897 RTSTHIA KT F977F Uigeiaq w1 e 7 a1 Xbra 5 7 2F goosecoid &1
ST T AT AT H H A A A 27

(1) A BaarC
(2) B.CaarD
(3) C.DaaTE

(4) A BTaTE

1873805381, 1
1573805382, 2
1873805985, 3
1873805984, 4

www.FirstRanker.com



» Ei
:l l‘lgg;%égiﬁggﬁggk&%g Dcuglﬂl.rents occurring during chick development.

www.FirstRanker.com www.FirstRanker.com
A The fertilized chick egg undergoes discoidal meroblastic cleavage, however the cleavage

does not extend mto the yolky cytoplasm.

B. Development of primary hypoblast 1s mediated by localized migration of a group of highly
specified and connected cluster of 30-40 cells.

C. By the stage XIII of chick embryogenesis and little prior to primutive streak formation, the
formation of the hypoblast 1s just complete.

D. Hensen’s node of the chick embryo signifies a region at the anterior end of the primitive
streak with regional thickening of cells.

E. Inhibition of Wnt planar cell polarity pathway in the epiblast causes the mesoderm and
endoderm to form centrally instead of peripherally.

Which one of the following combinations represents all correct statements?
(1) A BandD
(2) A CandE
(3) A BandC

(4) A CandD

1873805385, 1
15738053986, 2
1573805387, 3
1573805386, 4
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gl

B. wraf## srawes &1 fAwra 30-40 wriswsi & 3y fAfsrdisa van d401fea =2 5 v& 998 &
FATATERT TATH i FEAFTAT | ZraT 2|

C. 391 & Foriga @t Xl 3= a7 awfFas @ WA & 90T T84, ADFH FT GH0 506 40
gar gl

D. I3 % 91 & A A1S ATP=E @1 & AqGd] (2L TL RITARTA Dl AT HAIZE AT T &5 &l
AT g

E. aafawims # Wnt =< sifstar gaar 797 & THue & &0 S9SH a97 Us(eH T8 @l a9 65 |
FAdl gl

Teraferfaa |aarset § § &t a1 J=ft a5t H9=1 a1 8 2

(1) A BTarD
(2) A CaarE
(3) A BaarC

(4) A CaaTD

18738053985, 1
15738053986, 2
1573805387, 3
1573805386, 4
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marked. The D and ¥ genes are expressed in the dorsal and ventral domains, respectively.

Ventral

Consider the following statements describing the phenotypes of leaf polarity.

A Loss of D function makes the leaf ventralized whereas its overexpression dorsalizes the leaf.

B. Loss of ¥ function makes the leaf dorsalized whereas its overexpression ventralizes the leaf.

C. Loss of microRNA miR166 dorsalizes the leaf whereas 1ts overexpression ventralizes the
leaf.

D. miR 166 functions by inhibiting its target mRNA.

Which one of the following functional models best describes the above results?

R166
"
(1) f 1"

Dorsal Ventral
identity identity

miR166
!
(2) f ]"'

Dorsal Ventral
identity  identity

miR166

I~y
(3) ?‘c‘\/r

Darsal Ventral
identity identity

)

miR166

3

(4)

¢

v
L

Dorsal Ventral )
identity identity www.FirstRanker.com
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1879805990, 2
1879805991, 3
1879805992, 4
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AT IS Bl ZAT g1 T 3T I T &1 Hiega foar 1= g1 D vaq VoS &8en: 98t &

IEAT AT H AT 60 70 2

s
s
\

f
.'I... |Illl
/ Fi

~/

!

IO TAT F ATTACTT bl SATEAT FT g, (A TEd HAAT TL AT 31
A. D & ®F i FHI 9T B AT T g, FAToh T ATTHATI T Bl IO Fadl 2l

B. V & @1 &t &#T 9= &0 T G911 8, F=1e g1 ATSwal Il &l AGLT HLdl g
C. microRNA miR166 &t =T o=t &1 T917 FATd1 g, Faich SHhl ATAHAT TaT hl ATNT Feal gl

D. miR166 w79+ == MRNA % fifu=g 2% =4 F2a1 2
et # 7 &7 a7 Faiors Alsa IT90 TOTHT i daiad SATEIT ®ial g 7

iIR166
g
o 3y

Dorsal Ventral
identity identity

miR166
y
@ § 7

Dorsal Ventral
identity identity

(3) NV

Dorsal \entral
identity identity

mfwsa
"
(4) JD‘\/‘]’F

h T
Dorsal ‘Jentral

identity identity www.FirstRanker.com
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1879805990, 2
1879805991, 3
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During fertilization in mammals proteins Izumo and Juno are required for recogmtion of sperm
and egg. Izumo and Juno are found specifically in sperm and egg, respectively. Which one of
the following in vive expeniments will demonstrate that [zumo and Juno mteract with each
other?

If sperms from a male mouse where Izumo has been knocked out 1s used to fertilize eggs

1) .

( from a normal female and no fertilization occurs.

2) Whole mount immunostaining for Izumo and Juno shows its presence on the sperm and egg,
respectively.

3) If a CFP fused Izumo protein 1s nuxed with YFP fused Juno protein in a tube, FRET occurs,
i.e., when CFP 15 excited, emmssion of YFP 15 observed.

4) Two independent kidney cell lines are developed, one expressing Izumo and the other Juno.

If the two cells are mixed, they tend to aggregate with each other.

18738053993, 1
1573805994, 2
15738059385, 2
15738059396, 4
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Frdt 21 ToET ST AT fasIwatT 9T wEe: WW‘WBWWlﬁWﬁ@m
ﬁﬁmaﬁwﬁwmwﬁw%wmaﬂﬁ‘@

TEATH T h [0 TAAT A AT FIEiT i AFTqHadl

Tt 77 9 & AFE, A F S5 & e (29T, & ITAET AT "IET § #@S) @l it w0 %
e foba s ar & Mu=e 721 gam

(1)

(2) FEAT S AT 1 IO LA AT CATATHLSTA A [T AT 5S | ghl ITEATS 51 F97741 2|

= wF Fef # CFP #wfera g1 9réia &1 YFP e 51 929 & |9 Famar smar g, ar
FRET 214t 2, @afa s/ CFP 35S 21 2, 99 YFP &7 Swrsia aféra fobam am)

(3)

=T FEaS IF HIAHT T4, Uk SAAT H A< AL JAT H W=t F7dT g3, FFwtaa & 750 7= =1
FHITSTERTT THAT a1 F10, TF T Ueh 5AL o 679 GHgT FaT9 ol Fgi=f Ta@ai g

(4)

1873805983, 1
1873805994, 2
1573805995, 2
1573805996, 4

Column I Column IT Column ITT
(A) Auxin and (a) Transmembrane (1) Response mediated by
Gibberellins receptor phosphorylation/dephosphorylation

(B) Cytokinin and
Brassinosteroid

(b) Soluble receptor

(1) Response mediated by proteasome-

mediated protein degradation

Match the above columns involving plant hormones and their signalling pathways:

(1) (A)—(a) — (1) and (B) — (b) — (1)

(2) (A)— (D) — () and (B) - (a) - (1)

(3) (A)— (D) — (1) and (B) - (a) — (1)

(4) (A)—(a)— (1) and (B) - (b) - (1)

1873805957, 1

www.FirstRanker.com
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D!lﬁgirgtranker's choice
1879806000, 4
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Fied | Fiaq wiaq
(A) | T AT FAAT | () | TAHSTOAEGT | () | wreprfefrmon/Arstesifmor
HE R R ICIE T
(B) | FTEETHIEAT & (b) | T AT | (jiy | STEAE A S e g
I LA e

Iudh FerHl H 20 T gTEq g AT IqH dhaq g9 H gAfeT Fifeg:

() (A)—(a)- @) 7 (B)-(b)— (1)
2 A)-®)-@)7a(B)-(a)- (1)
(3)  (A)—(b)-(@)7ar(B)—(a)— (1)
@) (A)-(@-@7ar®B)-(b)-0)

1B87agosaay. 1
1873805998, 2
1573805999, 2
1573808000, 4

www.FirstRanker.com
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(1)

Net CO, fixation

(2)

Net CO, fixation

(3)

Net CO, fixation

(4)

Net CO, fixation

1873505001,
1873806002,
1573808003,
1573808004,

(umolm?s1)
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(1)

(2)

Net CO, fixation

(3)

Net CO, fixation

(4)

Net CO, fixation

1873805001,
1573808002,
1573808003,
1573808004,

Net CO, fixation
I

mZs1)

(
=

-10

L N

www.FirstRanker.com

% el COz #adwao &l A91wH =91 § F=i9d Far g7

60
50

R I R N
o O O

IEIGD 200 300 400 500

CO, Conc. {puL/L

4

! C

CO, Conc. (pL/L

-mlflim 200 300 400 500

E 100 200 300 400 500

CO, Conc, (pL/L)

100 200 300 400 500
CO, Conc. (pL/L)

www.FirstRanker.com

www:.FirstRanker.com



- :bﬂrstﬁan er.com

nt spedies  praduce’ Cyanogenic glycosides to protect them from pathogens. A
researcher has 1dentified a variant of such\Wahitr&if? 3Rk eheeilevel of WihFHist RERKRIROM
yet 1t 1s highly susceptible to a specific fungal pathogen. To mterpret this counter-intuitive
observation, the researcher hypothesizes that the fungal pathogen has higher level of

A p-glucosidase activity

B. formanude hydrolyase activity

C. cytochrome P-450 enzyme

D. cyanide-resistant, alternative oxidase activity

Which one of the following combinations of the above hypotheses is correct?

(1) Aand B
(2) B and C
(3) Cand D
(4) B and D

1573806005, 1
1573808006, 2
1573808007, 2
1873808008, 4

www.FirstRanker.com



:I “%}I?!E‘Fsa%ﬂﬂasnkeg cnm Tl ATAATS T TATEHIATEE IoTH FLdl g | ATl o Uh
Wﬁmawwwﬁwﬁmﬁmﬁwﬁaﬁ%ﬁﬁ%qw%%w%ﬁom

Tafsrg i TRraa® & 9id AcATa® Ha2a9ie g1al 2| T4 Fd-Arasid AA i SATEAT & (A0, drawar
o A weaAT At [ ®aha LA H Sga7 w7 -

A. BTmrETEET AT

C. arzzme P-450 varsw
ST T FRETATA F (AT Tad gara=1 | 7 19 97 9271 27

(1) ATITB

(2) Baar C

(3) CagTD

(4) B@aT D

1573806005, 1
1573806006, 2
1573808007, 2
1873805008, 4

www.FirstRanker.com



A OVERE S g&eﬁ%r s ste %naﬂe with the assumption that the concentration of 3-
phosphoglycerate 1s high inside chloropla¥twwf. fnir st R ek gile@BynthesizingwaFirstRanker.com

>, FirgtREQ_ nker,co
igh
A There will be high concentration of triose phosphate in the chloroplast.
B. The activity of ADP-glucose pyrophosphorylase will be intubited.
C. The carbon flow will be diverted from sucrose to starch.

D. Starch synthesis will be nhibited and carbon flow will be more towards sucrose synthesis.

Which one of the following combinations of above statements 1s correct?

(1) Aand B
(2) Band D
(3) Cand D

(4) Aand C

187ag0s003. 1
1573806010, 2
1573806011, 2
1573805012, 4

TE AT g0 {5 UF A6 T F THRITHANATT FT 7ol Tl 6 gieadahl & 3% J-HIERIAAE |l dAT2aT
=7 &, MaleaT w99 ae @ T

A. FAATS H ZTAE WIERE 1 37 A1541 2071

B. ADP-=shs 9T RIE RIS thi FihaaT ariad 2

C. FTEa TTTg This & F214 &l A (AT 21 AT

ST FAAT K (AT ATl A H R AT A8 27

(1) ATarB

(2) B@aTD

(3) CagTD

(4) AT C www.FirstRanker.com
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oBirstranker's choice
1879806010, 2
1879808011, 3
1879806012, 4

www.FirstRanker.com www.FirstRanker.com

A disease-resistant plant was crossed with a susceptible plant and the resultant F1 plants were
disease resistant. The F; plant was selfed and the F; individuals were analyzed for qualitative
and quantitative disease resistance. The following statements were hypothesized

A Qualitative resistance follows Mendelian ratio.

B. In the F> individuals demonstrating qualitative resistance, “resistance’ 15 dorminant
C. Quantitative resistance 1s always monogenic

D. Qualitative resistance can be polygenic

Which one of the following combination of statements 15 correct?

(1) A CandD

(2) A BandC

(3) A BandD

(4) B,CandD

1573806013, 1
1573806014, 2
1873808015, 2
1873806016, 4

www.FirstRanker.com
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Fiaaret =1 Fq 9r=at &1 s=iau=y AT 737 @7 F2 91591 &1 e 9T AT E O T & e

Targytae o Tam FeteraT $947 ff I F=9a1 & 7%

A. TOTToAS T4 HIS T SAqaTd &1 AT Hedl 2l

B. Foam=at # i1 TR wiawry 2= 77 2, 38 “wiaoyg” 7974t 21
C. ATATHS Fa<Ier 59 THATA1 20aT 2

D. Forens Siaere agsiiel gf 9%l 2

FAAT o (AT d g1 7 7 Rl A7 Jgf 2?7
(1) A CdaD
(2) A B @acC
(3) A B @D

(4) B,C @D

1873806013 1
1573806014, 2
1873806015, 3
1573805016, 4

Consider the following facts:
A Chlorophyll absorbs more in the red region of the visible spectrum than in far-red.
B. The phytochrome photoreceptor (P) of plants occurs i two inter convertible forms, P,
and Pz where red light converts P, to Pg and far-red light converts Ps to P,.
C. Growing a sun plant under the canopy shed causes increased stem elongation
Which one of the following combination of statements 1s correct for the plants growing under
the canopy as compared to those growing above the canopy?

(1) Red:far-red ratio 1s lower; Pr:Pg ratio 1s lugher; P& inhibits stem elongation.
(2) Red: far-red ratio 1s hugher; Pr:Ps ratio 1s higher; P inlubits stem elongation.

(3) Red: far-red ratio 1s lower; P;: Ps ratio 1s lower; Ps promotes stem elongation.

(4) Red: far-red ratio 1s mgher; P Pygian BirkiRen e pewhvtes stem elongation.
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1Firstranker's choice
1879806018, 2
1879808019, 3
1879806020, 4

www.FirstRanker.com www.FirstRanker.com

A. g TE-ATA B AT H 55T TUEA & ATA S H ATHF ATATTT FOAT 2
B. @r=1 =1 iz gweaes (P) &1 sae-atamdda =91 Py @91 Py 7 9147 ST 8, 5T AT Ta1er
P, #1 Py # 7as 957914 98191 Py &7 P, § 9afdq &2 =471 2

C. =am &7 =T | I F209 & F1207 A1 78T F T 61 AT q8 A1 2 |
THAT & F9% gl w7 7 U1 6l qAAT H (AT & J glag F7 7 TG 6 G H FIF A7 TF F97 Al
z?

(1) ATAHZT-ATA AT 79 §; PrPyr #99d 39 2; Py 99 & &9 214 &1 T&ar 2
(2) AT qFT-ATA AT 37 ¢; PPy #7739 8; P 37 & =5 g1 7 T ¢

(3) ATAHZL-ATA AGAT (789 2; Pr: Py #9970 M9 €, Pr a9 & 5% g4 #1 Gz2@1 2a1 8

(4) AT A7-ATd AT 37 2, PrPr oa1a T80 25 Pr a7 & @7 gid &l F2Er 230912

1873806017, 1
1873805018, 2
1873806013, 3
1573806020, 4

www.FirstRanker.com



:l 'E_(F-IIIJ:?-IISE %Qﬁggg irl'E?rthe and the force of contraction of cardiac muscles.

The mecha_msms of these effects of Ts haWhaehiegPRANKE b @esearcheVil il ThsiRamker.com
statements:

A Tj inhibits the expression of gene for a-myosin heavy chain and enhances the expression of
gene for f-myosin heavy chain

B. The expression of gene for Na™-Ca™ antiporter 1s enhanced by T3

C. The sarcoplasmic reticulum Ca™ ATPase 1s mncreased by T3

D. T; increases ryanodine Ca™ channels in the sarcoplasnuc reticulum

E. The number of f-adrenergic receptors i heart muscles 1s inhibited by T3

Which one of the following combinations contamns both correct explanations?

(1) Aand B
(2) Band C
(3) Cand D
(4) Dand E

1573806021, 1
1873806022, 2
1573808023, 2
1873805024, 4

www.FirstRanker.com
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£ - . o Wv%wﬁ_glrstRanker.com www.FirstRanker.com
T STTEhdl GTAT (Al Haal § =TT ;

A. T a@-wTaTTET =16 G@T & [0 509 & ATTTh H LwdT g 997 [-FEAad ard g@ar & =0
i &t ATH=aih ®T F7T4aT 2|

B. Na*Ca* sfawms & form sfte & afasat= T3 311 3=41 21

C. asftz=ft sterar Ca** ATPase, T3 317 3=a1 21

D. T3 wsfte=ft sferst & wamE Ca* Ja«1 § gfe F7a1 1

E. g== ufsri # f-vgtatsrs arigan &1 @=ar T3 g arfeaa graf 21

Terafertaa @orerr | & ToFa UF F 21 921 srea 27

(1) ATarB
(2) B @471 C
(3) CaaD
(4) DA49TE

1573808021, 1
1873808022, 2
1873806025, 2
1573806024, 4

www.FirstRanker.com



D
=I A nfm.!g't-sr% E?E%]T?‘E action e I;mglgm generated at the axon hillock m physiological

conditions and 1t 1s conducted to the termM{X{\Wald GFURIK ThEARation spaVVAV dTiiSHRAHE@IEOM
potential and its direction-specific conduction are explamed by a researcher in the following
proposed statements:

A The membrane of axon hillock has highest threshold for the generation of action potential
B. The membrane of axon lullock contains large numbers of voltage-gated Na™ channels and
that makes 1t more excitable

C. The propagating action potential in the nmuddle of the axon cannot generate another action
potential in the direction of cell body since a large fraction of voltage-gated Na™ channels m
the preceding portion 1s voltage inactivated

D. As the number of voltage-gated Na™ channels 1s less in the precedmg portion of axonal
membrane, the propagating action potential in the nuddle of the axon cannot generate
another action potential in the direction of cell body.

Which one of the following combinations represents both correct explanations?

(1) Aand B
(2) Band C
(3) Cand D
(4) Aand D

1573806025, 1
1573806026, 2
1873806027, 3
1873806028, 4

www.FirstRanker.com
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=I l'ﬁh%ﬂg. 7 E?Efg%gaﬁjﬁﬁﬁwvmmgamagaﬁfﬁmmaﬁw
e o A= 2T 21 (AT T F eV S HRANe e s Tafard AN $1RARKeHEOM
SITEhd] GIT fHeiead Fearad Hal | & T2 2

A. TRt [T f Eeat | G 93 &1 3099 F9d & (o0 3g49 517 2047 21

B. "t Fifver &1 fEre=dt § ot e § Freew-griia Na* =57 gid g i< it g8 J79F SHoare®
FATd 2l
C. Ff=drer & 7eq | T s gamied gra & ®rerehra & 29 § e T s Soa= 781 21 /har 2

o

i T ST § FAee-ziiva Na® St 51 a1 s qreest it 2rar 21

D. =i dr=wrefta Zeedt & qhadi 901 § deew-gried Na* =591 & a1 &7 Zidl g, A6 & 77
H waATa R s wremwr & = 7 aw AT B oo 780 & 95097 2

Terarferaa ot | 4 s =1 9 sarears €7

(1) ATarB
(2) B AT C
(3) CaTD
(4) AFarD

187a80e025. 1
1573806026, 2
1573806027, 2
1573806028, 4

www.FirstRanker.com



» Fi K
=l l‘oér 1cfeds Bésr !Il!le eénrp tion ﬂm " from the tubular flud 1n the thick ascending limb

C
of loop of Henle and 1n the di If_. al tubule Thave. EifstRankeksRMed m the iMMvhis titapkerdcom

statements:

A Aldosterone increases the number of Na™-Cl” symporter in the apical membrane of
principal cells in the early portion of distal tubule

B. The number of Na™ channels (ENaC) 1s increased in the apical membrane of principal cells
in the late portion of distal tubule by aldosterone

C. The synthesis of Na™, K™-ATPase in the basolateral portion of principal cells in distal tubule
15 decreased by the action of aldosterone

D. Aldosterone increases the reabsorption of Na™ across the apical cell membrane 1n the thick
ascending limb of loop of Henle by decreasing Na™, K™-ATPase in it

Which one of the following combinations represents both correct statements?

(1) Aand B
(2) B and C
(3) Cand D
(4) AandD

15738060259, 1
1873808030, 2
1573808031, 2
1873808032, 4

www.FirstRanker.com
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FAAT g1 T THTET i SATAT MATAad Feqriad 4l § 6l 1% 2

A. TEETEEEIA ST ATAET % ALEAE A0 H AHE HISEwTAl w0 siiued Fedt § Nat-Cl- agasas it
|l | gl FAT 2|

B. 57% Afera1 & A" 901 § 9H@E FITFAT w1 siigeq Fe+1 # Na* 3541 (ENaC) & =

TS [ES (A Z19T A%TE Al 2l

C. Z7=g Fferst § 9H& ®If9=w1a & avgarearsia 99§ Nat, K-ATPase @1 a5 ve=reaiq Har

ELARCES L]

D. U=STe2aid gred Tl whi /LT ATLEr o7 | siiueq ®Ifstht Fewii g7 Na*t & [h:Aa997 H i

zad Na*, K-ATPase &1 9217 a1 gl
Tomfertaa dar=et § & ®I9 97 27 T2 HAA1 0 39009187
(1) AT4TB
(2) B 7T C
(3) CTaTD
(4) AFarD

15738060259, 1
18738060320, 2
15738060321, 2
1873806032, 4

www.FirstRanker.com



er#’?‘é’ﬁ /activa mg a variety of effectors mntracellularly. Below are given a
variety of effectors 1 column ‘X’ and hottbeEifstRankerzom www.FirstRanker.com

=I'F stRanker.com
A 5@

Column X Column Y

Inositol triphosphate (IP3) (1) Leptin

cGMP (i) IGF-1
C cAMP (1) Oxytocin
D Receptor Kinase (1v) Somatostatin
E Associated Kinase (v) ANF

Which one of the following combinations of effector and the specific hormone 1s correct?

(1) A (1) and B (1)

(2) B (iv) and A (iii)

(3) € (iv) and D (ii)

(4)  E@)andC (@)

18738060323, 1
1573805034, 2
1873808035, 3
18738060326, 4

www.FirstRanker.com



=|lu FirstRanker.com .

3 7 T 1_ — - = o = . - X ;;':_I [ - U-r_ ] Y o
A TF R el TR TS F 3o At g 9 FEar g1 A= wmiew X H

www.FirstRanker.com

Tafee s eT=S & Fiad Y H g 20 T

Fraw X wiew Y

A gt zreene (1Ps) (iy A=A
B_cGMP (i) 1GF-1

C cAMP (ifi) ST
D TRl FE (iv) AR
E o= e (v) ANF

TR Wi AT grAie & ferwteta St @ 4 B A g g7

(1) A @) 7B (1)

(2) B (1v) 74T A (111)

(3) C (1v) 747 D (11)

(4) E () 7971 C (1)

187a80e033. 1
1573805024, 2
1573806035, 3
15738060326, 4

www.FirstRanker.com
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=I l"ellf;: i S{St q%ﬁ!’(egé’r!:e'hal C) perfornung the absorption of digested

monosaccharides from the dietary carbohydteFiisiRanker.com www.FirstRanker.com
Fructose Lumen Glucose
Brush
border
A B
Na*
IEC
Glucose
Fructose

YA
\{Ioad

‘Which one of the following combmations of the transporter (A, B and C in the figure above)
and the transported monosaccharide 1s correct?

(1) A-GLUTS B-SGLT1, C-GLUT2
(2) A -GLUT2; B-GLUTS5; C—-5SGLT1
(3) A—-SGLTIL; B-GLUT2, C-GLUTS
(4) A —-SGLT1; B-GLUTS5; C-GLUT2

187ag0e037. 1
1873806038, 2
15738060329, 2
1573805040, 4

www.FirstRanker.com
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Fructose Lumen Glucose
Brush
border
A B
Na*
IEC
Glucose
Fructose

<A
\Xﬂlood

afvarg® (3w = § A, B 791 C) =i afvafad Arawass & faafaiaa aar==r § 9 &9 |71 927
22

(1) A-GLUT5; B-5SGLT1; C-GLUT2?
(2) A-GLUT2; B-GLUTS;, C—-SGLT1
(3) A —-SGLT1; B-GLUT2, C—-GLUT5
(4) A —-SGLTI1; B-GLUTS5; C-GLUT2

1873806037, 1
1573806038, 2
1873808033, 3
1873805040, 4

www.FirstRanker.com
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set of enzymes they have (in column ‘Y )www.FirstRanker.com

?@%?ﬂrﬁ:

nker,

Column X Column Y
A (1)  Fucose transferase
B (1) GalNAc transferase
AB (1) Gal transferase
O

fldgtgnm.mrinus blood groups (i column “X) based on the

www.FirstRanker.com

Which one of the following combinations 1s NOT correct for the blood group type and the set
of enzymes a person has?

(1) A - (1) and (11)

(2) B - (1) and (111)

(3) AB - (1), (1) and (111)

(4) O - (1), (11) and (111)

1873806041, 1
1573808042, 2
1573806043, 3
1573805044, 4

www.FirstRanker.com
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Fer X Ftm Y
A (i) TR ZTARI
B (i)  GalNAc zmw==
AB (iiiy Gal zawe=
O

et SToml § § FI7 77 75 qHg TR AT S § UAH & AR F o A g 27

(1) A - (1) 79T (1)

(2) B - (1) 797 (111)

(3)  AB-(i), (i) 747 (iii)

(4) O - (1), (a1) 747 (111)

1873808041, 1
1573805042, 2
1873808043, 2
1573805044, 4
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:I l alfugggrne%g Q_?g(e‘;{%srgrgq Il‘cﬂll{:m" whle 1ts mutant allele @ gives yellow body
colour. Further, presence of b allele gived\ogRAfRt Ban kair¢ 9ffile b alleVViyv&sl FIRRRCOM

and thick hairs. The alleles a™ and b™ are dominant over a and b, respectively. An individual
with the genotype

+ +
a1 b

a b

has a patch of yellow cells with short and thick hairs. Whach one of the following events 1s
most likely to lead to the above?

(1) Non disjunction of the homologous chromosomes during nutosis
(2) Somatic recombimation involving a and b
(3) Translocation occurring 1n a few somatic cells

(4) Mutation of both @ and 5™ alleles in the somatic cells

1573808045, 1
1873805048, 2
1873805047, 3
1573806045, 4

www.FirstRanker.com
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FI AT 97 34T Bl a9, bt TREFRSAT & ITeTTd @+ T T94 a1 241 g, Aaih b TATaH=91

T 37 A/ a1 247 21 @ 07 b* THiaw=41 FHT: g AT b77 TAET &1 FH Fa9e7 IF UF 54 o9
.a'.

a b*

a b

IS AT AIS FATAT Aigd TeAT FBISRTA FT UF Toa1 2| FFateriad gearan 7 7 ot 39 & 0 a2

AT wqed Fod il aFATEAT 27

(1) T TS % A AT [OrEET w1 AT

(2) a &% b 7 sITiH= ®wTa® i

(3) Fg AT RISHTA H gIdd ATeAT ST

(4) FTTAE FISTHRTA | g* 37 b* ZAT TRIGHTA] FT Ioqraaad

1873806045, 1
1573806046, 2
1573806047, 3
1573805045, 4
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=I IL“EI,!'}!‘EEEB &grﬁﬂ.Qan are having two haploid sets of autosomes and no Y-

rscnolce

chromosome. The X:A ratio of the b B RérkeprRosT organwehivséRattkeai¢Rimary sex

and number of Barr bodies expected in their cells are shown 1n the table below:

X: A | Organism Primary Sex Number
ratio of Barr
bodies
1. 0.5| A. Human I. Male a. Zero
i.. 2 | B. Drosophila| II. Female b. One
III. Metafemale | c. Two

d. Three

Select the option below with all correct matches:
(1) 1-A-II-a; u-A-II-d: i-B-I-a: 11-B-III-a

(2) 1-A-I-a: 11-A-Il-c; 1-B-II-a: 11-B-I-a

(3) 1-A-II-c; n-A-I-d; 1-B-I-c; 1-B-II-b

(4) 1-A-Il-a; 1-A-II-d: 1-B-IIl-a: 11-B-I-a

1573806045 1
1873806050, 2
1873808051, 2
1873805052, 4

www.FirstRanker.com
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=I lﬁFEﬁ"str nker's choic 9 oI &g & a1 Y- el gl sirat &1 XA g, i

A1t w1 w#, ST wrAtEE o s e GRR BRSO i are R SR SRR 3 zerfe

TEQ:
X-A ELE] FICICEAER] am:‘ﬁ‘e"‘f
i. 0.5 | A 9Mg l. F1T a. 54
ii. 2 B. srarfgar| . A=t b. t#
1. =srfemmaT c.al
d. =

A1 T2u o+t @ar A4t aret Awew &1 599 w7l

(1) 1-A-Il-a; n-A-II-d: 1-B-I-a: 11-B-III-a
(2) i-A-I-a; ii-A-Il-c; i-B-I-a; ii-B-I-a
(3) i-A-Tl-c: ii-A-I-d: i-B-I-c: ii-B-II-b
(4) 1-A-II-a: 11-A-II-d: 1-B-III-a: 11-B-I-a

1873808043 1
1573808050, 2
1873808051, 2
1573806052, 4
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=I :ﬂ%’%@%&%e%gghqﬂg I.;I:'B and C are linked on the long arm of the X-

chromosome 1 the order centromere-A-BMWYIGHSIR ANEGAMthe table MAGTRSiRaaker.com
present in each individual 1s indicated.

| O

1 2 3 4
Il
1 2
1 2 3 4
Loci Generation
I II I11

Based on the above, X-chromosome(s) in which of the following individuals are recombinant?

[Hint: X-chromosome in males will help identify the phase of the alleles]

(1) MI-1.I0-1andOI-2

(2) MI-2I0-1andOI-2

(3) I — 1 and TIT - 3

(4) I — 2 and TI1 — 4

1873806053,
1873806054,
1573806055,

[ O e R

187 a8mE0Ee,
www.FirstRanker.com
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A Firstranker's choice

Loci drdt
II I11

1 |12 3 (4|1 2 1 20 3 4
A [s6la|s6lala6]6 116 | 6
B |78|9|89|7|79|8 |89 |9| 7|78
C (122123121 1222711

I AT 97, =T =ainal § 7 TmaH XA A g7
[ 70 7 XS[OTHA TATIER-Ta1 il a7 i TgaTT Hiod # Agraar :4)

(1) O-1.I0—-175arI-2

(2) M-2 10— 17arOI—-2

www.FirstRanker.com
afafas Femast § € STR loci 4, B 3= €, X-7ra= &7 414 o1 97 g995-A-B-C-s7a= & 79
H HATSA 21 HAFT ATieshl H, Toa® =i<h § 30reqd STR A& -TAT HT ZSET 147 2

(3) M- 173armI-3

(4) IMI—-27ar I -4

1873806053, 1
1573805054, 2
1873808055, 3
1873806056, 4

www.FirstRanker.com

www.FirstRanker.com
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=I l1lll_El r!;{%%&% erpﬁg’(&gﬁﬂf'gigﬂ hlamydomonasz that was resistant to the

r
ey s .« ww.FirstR r.co www.FirsfRanker,com
antibiotic kanamyecin (kan™) and férbicide iﬂﬁf'f' i pp[?rll was erotied ton wild

type mating mt* kan® ppt® strain that was sensitive to kanamycin and PPT.
Twenty tetrads of the progeny were analyzed for mating type and

resistance/sensitivity to kanamycin and PPT. The following observations

were made:

Tyvpel

Type II

Type III

mt kan” ppt"

mt kan” ppts

mt kan” ppt”

mt kan” ppt"

mt kan” ppts

mt kan” ppts

mt+ kan” ppt®

mt+ kan” ppt”

mt* kan” ppt”

mit+ kan™ ppts

mt+ kan” ppt”

mt* kan” ppts

Number of

9

3

each type 8
observed

The following statements were made to explain the observations:

A mt and ppt loci are on two different chromosomes

B. Inheritance of mating type and ppt-resistance/sensitivity are demonstrating cytoplasmuc
inheritance

C. Inhenitance of kanamycin-resistance/sensitivity 1s demonstrating nuclear inheritance

D. Nuclear mheritance 1s being demonstrated by mating type and ppr-resistance/sensitivity
analysis

Which one of the combinations of above statements 15 correct?

(1) AandB

(2) AandD

(3) Band C

(4) Cand D

1873806057, 1
1573806058, 2
1573806058, 2
1573806060, 4

www.FirstRanker.com



=I iF Eﬁan Er“ﬁ'gkﬁ:eg?r'? cpﬂl‘l‘ AT AiaaATa® wEATEET (kan®) 3w strwarstt PPT

(pptT) & Wt Tt or, = aer wwm ger MWW BSHBANKEE 69 B e WAV BLREAKEEEOM
AT, § HFT FAAT TATI AACT F A TGl w1 G9H qoq q9r wmmEEa @e PPT ® af+
Fia<ra/Aaaasti=rar & =0 f=Fgiua G = Fatatas g9 4 & o

=7 | =7 || T=q 1l

mt kan” ppt”

mt kan” ppt®

mt kan” ppt”

mt kan” ppt”

mt kan” ppt®

mt kan” ppt?

mt* kan™ ppt?

mt* kan” ppt”

mt* kan” ppt”

mt* kan” ppts

mt+ kan” ppt”

mt+ kan” ppts

ERENIE G
WEY i T

STt ot ST % For R Fee Ao Fe

A. mit#r pptloci =T T =T 97 2|

B. &/ 5= @i I 79T ppt-Atarawmar/aasasii=ar sIsrRiaed 1 a9 & T=199 F Tal gl
%{l
D. Fsehia I 777 799 S« ppt-Aia rasha1/aa=asii=ar (=@ g1 T=is1a &f 71 721 2|

C. smmTsaa-aiaera®ma/AaaasiiAdr sl a9 fehid J9Ed & Faied w gl

ST FAAT o AATAAT H A R AT Al 27

(1) AFaTB
(2) AFarD
(3) B 79T C
(4) CaarD

1873806057, 1
1873806058, 2
1873806059, 3
1573806060, 4

www.FirstRanker.com



=I l EF’ u.n chm picts Ej the I]_l]lll'lduﬂl I-1 1s heterozygous for a domunant disease

ranker s C
allele D and for molecular markers M1/MYVWhd-H-abRad kebleeilar marke WisEHiSHR@aKer.com

progeny individuals are indicated in the pedigree.

| B

1 2
D/d.M1/M2 | d/d.M2/M2

I | I | | Z
B Bul el 1=k Yeim
1 2 3
M1 M1 M1 M2 M2 M2 Ml M2 M1 M2

The following statements may be drawn from the above pedigree:

A The two loci D/d and M1/M2 appears to be linked

B. The recombination frequency between the two loc1 15 20%

C. If LOD score comes out to be 3, then 1t ensures that the two loc1 are independently assorting
D. ALOD score <1 would have ensured that the two Loci1 are linked

Which combination of the above statements can correctly mterpret the depicted pedigree?

(1) Cand D

(2) Only C

(3) Aand B

(4) Only D

1873806061, 1
1573806062, 2
1873B0E0ES. 2
1873806064, 4

www.FirstRanker.com
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:I la&#g%%&%% %%‘Iq%@mwﬁmﬁ D srortas Fregst M1/M2 % fom

T 21 Aataai § 396 99 m@%lﬁgmﬁ%Tm%lwww.FlrstRanker.com

B

1 2
D/d.M1/M2 | d/d.M2/M2

| 1 | | 1 |
F,
@ HOOL eOL]
1 2 3 4 5 6 7 8 9 10

MI M1 M1 M2 M2 M2 M1 M2 M1 M2

I FATHAT | HHATad 7949 =57 77 994 2
A. =1 faeg= DId = M1/M2 |=faa 913 2t 2

B. =1 fa=g=t & a9 Taatea srgra 20% 2

C. =tz LOD wroram 3 #irdt 2, 97 7g Afwieaa g T 21 fFeu=t &1 mas=7 9 951z 271 &
D. LOD srorar <1 gi=fera w0 & =7 loci #==a 2

ST FAAT FT R AT FATSTA 0T JITTAT FT TEN SATEAT FF AHAT 27
(1) CaarD
(2) Fa C
(3) AT4TB
(4) Faer D

1573806061, 1
1573806062, 2
1573806063, 3
1873805064, 4

www.FirstRanker.com



:I l 5@ Ra n kei[ 11':1:,I version (denoted by the region f-e-d, marked by arrows)

mn hnmﬂz}g[}m mﬂdmon www.FirstRanker.com www.FirstRanker.com

v v

ab ¢ fedghi
L)

The meiotic consequences of inversion can be:

A generation of an acentric and a dicentric chromosome

B. the recombinants will have long deletion or duplication and may be lethal

C. the mnversion will suppress crossing over

D. all gametes will have complete genome and will survive normally

Which of the above statement or their combinations will explain the meiotic consequence of the
given inversion logically?

(1) A BandC

(2) Aand B
(3) Band C
(4) Only D

18738068065, 1
15738060686, 2
1873808067, 3
1573806065, 4

www.FirstRanker.com
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. L]
:I Y EF!;!ETSH?%IEEF'S [%akf%aggmmf_e_d T TR, JI A i)
v v

ab c fedagh /i
@]

FAATHAT & ALAT TOTH Z1 FHA 2

B. TAaTs®i # UF wre [Gead A9ar A gl 997 9 919 gf ddhd il 2
C. afa=raa safaiasa w1 =86

D. =1 T7/®T & 0 SAH g7 a9T ATHT =9 § A(ad a7

ITAT FAT ATAT IAF AATHAT | F KA AT (57 T GIEAAEA F A=A TETHT F TR AT
EI-. -

(1) A BTarC
(2) ATaTB
(3) BaarC

(4) Faa D

1573806065, 1
1573806066, 2
1573806067, 3
1873805068, 4

www.FirstRanker.com



:l A Lgl_s.’r ls%%rk a n Iﬁﬁ\e Emg 9 ble-strand break repawr (DSBR) model of homologous

recombination: www.FirstRanker.com www.FirstRanker.com

A Process of DSBR recombination 1s triggered by introducing a double-strand break in a
DNA duplex

B. In a process known as 3°-end resection, the exonucleases along with a DNA helicase
degrade one strand on either side of the break and generates 3’-single stranded termim

C. One strand of the donor duplex 1s displaced due to formation of heteroduplex DNA and
generates a displacement loop (D-Loop)

D. Branch migration allows the point of crossover to move in 5" — 3" direction of recipient

strand

E. Completion of DSBR. recombination may generate either crossover recombinant or non-
recombinant product

Which one of the following combination of statements 15 correct?
(1) A BandD
(2) A CandE
(3) A CandD

(4) A BandE

1573808063, 1
1873808070, 2
1573806071, 2
1573806072, 4

www.FirstRanker.com
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:Iliﬁﬁgtwrwgﬁ zed #4owad (DSBR) wizs & =1+ | = fobw a1 2

_ www.FirstRanker.com www.FirstRanker.com
A. DSBR qaatsa &t wiwar DNA sT=ia9 # 597 229 9 9 24l &)

B. 3'-fa=r fa=rem & A\ & 5ra whear 9, DNA 2 & |7 vgai=iaauss 221 59g & =1 A

T FZ1eS I 954 L =41 g A7 3 -TFA #ZTes (477 3094 21471 2|
C. =171 29 %1 U =Ziv=s [AurAsT=#d DNA & =+ & [Eeniua g1 sira1 & 3491 vs f@earaa aer - (D-
Loop) &= =T 2
D. srat saf¥mae stataiaaa &g &1 979F =i &1 5 '— 3 "=2em # 717 Zar 2
E. DSBR ga=rfs @i T0faT a7 a1 Saia mA7a Taaies A9a7 A-TAai5F 30975 Ic99 FT qha | g
FAFT o (AT JaTerT § o Hiq AT TEf 27

(1) A BaarD
(2) A CaarE
(3) A CTarD

(4) A BTarE

1573806065, 1
1873806070, 2
1573808071, 2
1873808072, 4

www.FirstRanker.com



=I A ' E& P r}’ﬁ%lrg SSET_I%I Eegrrcﬁtgm'; n‘EI qualify a species to be considered as endangered

N) as per IUCN criteria? www.FirstRanker.com www.FirstRanker.com

80% reduction in population size, <100 km? area of occupancy, at least 50% estimated

1 e .
(1) extinction risk i five generations.
2) <2,500 individuals with declimng population, <250 mature individuals, at least 20%
estimated extinction risk mn 10 years.
3) <10,000 imndividuals with declining population, <1000 mature individuals, at least 10%
estimated extinction risk in 10 years.
(4) 75% reduction in population size, <500 km’® area of occupancy, at least 20% estimated

extinction risk i five generations

1573808073 1
1873805074, 2
1873806075, 3
1573806076, 4

Trafertaa af el & 792 5 7 %17 a1 [UCN As7= % aqare aaaa (EN) w=if==1 % =9 7 s
TRt ST T g ar 7= ?

AraTal & swere 7 80% w1, <100 km? faame &=, o= Jifzar # &7 7 7 50% aqar+a @

(1) ]
ElIE=E

@) AraTal # [z & | <2,500 =atg, <250 @iz =iy, =9 a4t § &7 7 57 20% sqari+ag EaE
B

(3) gl # Feae & arg <10,000 =f2, <1000 wi= =g, == /=1 & &7 4 77 10% d@qAri«aa
el

@ AETET & A # 75% wAf, <600 km?2 A a=, Tr= fifEat # 79 7 &7 20% dqar-g

e iR

1573808073 1
1873308074 2

1873806075, 3
1573806076, 4

www.FirstRanker.com
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Given below are certain adaptations which are seen in various groups of ammals:
A Ovipary

B. Streamlmed body

C. Pouch for carrying eggs

D. Porous egg shell

E. Breast bone as large keel

F. Webbed feet

G. Laterally compressed coccygeal bone

H. Unidirectional pulmonary system to provide large quantities of oxygen

I. Barbules or hooklets on the vanes of each feather

Which combination of the above adaptations facilitate bird flight?
(1) B,E.H I

(2) AB C.G

(3) D.F.GI

(4) B.D.EF

1873806077, 1
1873806078, 2
1873805073, 3
1873805080, 4

www.FirstRanker.com



» Ei
a3 F RN s

www.FirstRanker.com www.FirstRanker.com

A

B

C. =% vad ¥ P e
D. f&fET d=T%a9

E

. ggd Alad & & H a9 Fqeq
F. == 9%

T ALH H AFAT AqAE AT
FATEF ATAT H S FH T ITAST FAqT & (A0 TH=sT GREAT a5

T ©

. = == % Tr=awas 97 =g a1 sgiaem

ITAH ATEHAAT HT RIT AT FATSAT TIEAT FT ISAT AATT Fear g ?
(1) B.EHI
(2) A.B.C.G
(3) D,F.G.I
(4) B.D.EF

1573806077, 1
1573806075, 2
1873808073, 3
1573808030, 4

www.FirstRanker.com
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www.FirstRanker.com

Taxa Genus
A Ascomycota 1 Rhizopus
B Basidiomycota 1 Erysiphe
C Zygomycota ui | Pythium
D Oomycota I\ Ustilago
(1) A—1; B-1v; C—1, D-1i
(2) A-1; B-ui; C—11; D—1v
(3) A—11; B—1v; C—1; D—1
(4) A—-1; B—u, C—wv;, D—u

1573806081, 1
1573806082, 2
15738080583, 2
1873808084, 4

www.FirstRanker.com

www.FirstRanker.com
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ERED EEl
A TERTHTAHIET AT
B afafEaraTRET i | RETEe
C EIENIGIREI E i | T
D FHATIAEIET i | eETart
(1) A-1u; B-1wv; C—1; D—m
(2) A—-11; B—ui; C—11; D—1v
(3) A-1it; B—iv; C—ii1; D—1

(4)

A—1; B—u; C—1v; D—-1u

187ag0e0sl. 1
1573806082, 2
1573806085,
1573806054, 4

www.FirstRanker.com

www.FirstRanker.com



=I l e TVQHE é]rgn hls(eas SW -'1’9 tED name of pathogen associated with the disease

Ice .
www.FirstRanker.com

Disease Pathogen
A | Powdery mildew |1 | Erwinia amylovora
B | Rice blast 11 | Pseudomonas syringae pv. syringae
C | Bactenial canker | m1 | Magnaporthe oryzae
D | Fire blight v | Ervsiphe cichoracearum
(1) A-11; B—ui; C—1; D—1v
(2) A—-1, B-1wv; C—u; D-m
(3) A-1w; B-—u1; C-u; D-1
(4) A—m; B-u; C—1v; D—1

1573806085, 1
1573806086, 2
1573808057, 2
1873806088, 4

Terarferfaa araa TRTT #1 OF1 8§ J¥ s TTSAE o6 AT & 81 qHe ity

7T AHECED
NEREEER i | EAIAIT gATITArT
B | TAHAE I |y | e fafeft i RS
C ATATIET BT i FAITHT e AT
D =L Siorar iv STTTEHT GIEFIedieg
(1) A—1u; B-m; C—1; D—1v
(2) A—-1; B-1v; C—u; D—-m
(3) A-1v; B-um1; C—1u;, D—1

www.FirstRanker.com

(4) A—-m; B-u; C-

ivv D—1 wWww.FirstRanker.com
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sEirstranker's choice
1879806086, 2
1879808087, 3
1879806088, 4

www.FirstRanker.com www.FirstRanker.com

Which one of the following phylogemes best represents the evolutionary relationship among
whales, dolphins, seals, deer and dogs?

— Whales

Dolphins

(1)

Seals

Deer

Dogs

— Whales

Dolphins

(2) Deer

— Seals

—— Dogs

—— Whales

Dolphins
(3) — Seals

Deer

—— Whales

Dolphins

— Seal

(4)  Deer

—— Dogs www.FirstRanker.com
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sBirstranker's choice
1879806090, 2
1879808091, 3
1879806092, 4

www.FirstRanker.com www.FirstRanker.com
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o FEqd FAAT g 7

— Whales

Dolphins
(1) b

Seals

Deer

Dogs

Whales

Dolphins

(2) Deer

— Seals

e Dogs

—— Whales

Dolphins
(3) —— Seals

Deer

—— Whales

Dolphins

— Seal

(4) — Deer

—— Dogs

1873806089, 1
1573808030, 2
1873808031, 2
1573808032, 4
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5 egefstra IEE-rS hoice

et oW shows p otasynthetlr: typevienfirstRenied sadight intenaitydeRilstRanker.com
Temperature | Sunlight
Photosynth Intensity
etic Type
A. C; Plant 1 High P. High
B. C4plant 11 Moderate | Q. Moderate
m Low R. Low

Which of the following correctly matches the plant photosynthetic type with the temperature
and sunlight conditions in which photosynthetic rate per umt leaf area 1s maximum for that
plant?

(1) A-1-P; B-mm—-R

(2) A-iii—-P: B-i-Q

(3) A-i-R: B-ii-Q

(4) A-ii-Q: B-i-P

1873806033, 1
1573805034, 2
1873808085, 3
1873806096, 4

www.FirstRanker.com
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FEALEEERIE e EI GIREI BIEVEAEIGIFEIL
A. CyarEa i 33 P. 3@
B. Cqum=q i wemH Q. H=1H
i o= R. &=

Taferfaa # & &9 9159 FRISTHGAT THTE FT ATTATE UAH deamier iegtaa, SeE 9iw @

TS THRTMALTNT 57 39 TTET (G970 & (o0 ATFaH 2, F 979 gl HaArd wa1 27

(1) A-i-P;: B-ii—-R

(2) A-iii—-P: B-i-Q

(3) A-i-R: B-ii-Q

(4) A-un-Q; B-1-P

1573806053, 1
1573808034, 2
1573808035, 2
1873805096, 4

www.FirstRanker.com
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(1)

(2)

(3)

(4)

www.FirstRanker.com

A
dN
dt
> [\
F
1dN
N dt
> [\
AN
dt
> f\/
A
1dN
N dr
=
\N

1873808037, 1
15738080398, 2
1873808093, 2
1573808100, 4

www.FirstRanker.com
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A
dN
1) -
( dt
> [\
A
1dN
N dt
(2)
> [\
d_.N
(3} dt
> [\
A
1dN
N dt
(4)
=3
<3 N

1573808097, 1
1873808098, 2
1873805093, 2
1573808100, 4
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:I l alg tR%m;a%re?ﬁ%I)gg (In;e'ncogdrt!;!& Q. R S) represent a region, whereas smaller boxes
represent hab1tat5 Labels S S, abovaenchisatiRBBkerGaMRent specivwdpiebiis iR akeream
habitat denoted by that box.

31 S1,% 51,92,3: 51,505
| OO o 0L
Su> Sf,sﬁ 5,55, 5i5:,5

log| |Oc
O O | [

Given the above graphs, choose the option which correctly depicts the regions which show
maximum o and maximum P diversity, respectively.

(1) Qand S

(2) Pand R

(3) Sand P

(4) Qand R

1873806101, 1
1573808102, 2
1573806103, 3
1573805104, 4
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e mwm!%r £0mM FEISI) TF S FT AL FEA G, TAE G T
oo ST www.FirstRanker.com www.FirstRanker.com
AT w1 A ®od 21 wew S At & 597 34, Sp,..... R 39 wmE # B aw g |

IOFAT AT AT I 7900 2

S, S, 55, S.
L] L] | [
R. Si S, S, S4 S¢
L1 L | L

FI7 T2 T AT #H AEeT AT S A B9 | 39 AT B AT FAAT g S mAS: ATTRAH oL HT

(1) QaaT S
(2) PaaTR
(3) SaaT P
(4) QaaTR

1573808101, 1
1873806102, 2
1873808103, 2
1873805104, 4
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Condition | Abundance Predators | Resource
learn overlap

A MWinuc=Model Yes Yes

B Model>Minuc Yes No

C Mimic=Model No Yes

D Model = Mimic | No No

Which among the above sets of conditions are best suited for numiery to be successful?

(1) Condition A
(2) Condition B
(3) Condition C
(4) Condition D

1573808105, 1
1573806106, 2
1873808107, 3
1873808108, 4

www.FirstRanker.com
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Fir “?P-EEFI%%!—],%-FE S SUT—
A FAEH A=A Gl Bl
B AfsA>AERE | & G
C A H—HAISA GEU Bl
D A=A 2AqEH GEY w2

www.FirstRanker.com

ST TR F AHET § F ®iT AT AGE H ARAAT F [0 TG ATTH ITIF 27

(1) afifeafa A

(2) gfifEgia B

(3) afifeafa C

(4) giiigia D

1573806105, 1
1873808108, 2
1873806107, 3
1573808108, 4

Which of the following is NOT a mechanism for species coexistence?

(1) Niche differentiation

(2) Niche complementarity

(3) Niche overlap

(4) Amount of linuting resources 1s greater than the number of species

18738081059, 1
1879806110 =

18739808111, =

www.FirstRanker.com
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Firstranker's choice ) .
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B T e
(1) IGEEREEEG]

(2) IRELRRETII

(3) BEEEICEIRE]

(4) HTHT FETAT 6T ATAT TATAAT ol FEAT 1 TAAT H AT 2

1873808103, 1
1873808110, 2
1573808111, =
1573808112, 4

A small number (approximately 10) of mice are introduced into an umnhabited 1sland. Thewr
population grows exponentially imitially and after 3 years, reaches a population size of 520 after

which the population becomes stable. At what point would you expect their population to attain
their hughest growth rate?

(1) When the nuce population was first introduced.
(2) When the population size is 260.
(3) Their population growth rate remains constant throughout.

(4) When the population size reaches 520.

18738061131
1873808114, 2
1873808115, 2
1873806116, 4

www.FirstRanker.com
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Irstr CH =

AT 475, WEEGHTEFWFEF’F&JTELWW S RANKe ROt i WA FriSIRRPKeHEOM
g 57 qTH F17

(1) WA 1l AETET TEeAT AT AT LN
(2) W AraTar 260 g2
(3) It ATETAT Jleg 77 T¢ A8 (297 741 7210

(4) = ararar 520 9% TEH1

15738061131
1573808114, 2
1573806115, 2
1573806116, 4

Area of patch 1 is 2000 m”® with a resource density of 5 units/m*. Area of patch 2 1s 3000 m*
with a resource density of 10 units/m®. As per the theory of ideal-free distribution, organisms
distribute themselves such that the expected ratio of abundance of organisms in the two patches
(patch 1: patch 2) 1s

(1) 1:2
(2) 23
(3) 1:3
(4) 32

18738068117, 1
1873B0E11E. 2
1873808119, 3
1573808120, 4

www.FirstRanker.com
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10 units/m? 1 srssf-waa= faae fgia & aqane, Sa I990T ®7 F5 59 99 At

nker.co
%E’a"‘"efﬁm

units/m?2 1 @= 2 F1 d=Fwa 3000 m?2 = Faraa T

www.FirstRanker.com

EE H Gl Rl ARAAT HT AGATAT A9 (F= 1. @2 2) 2

(1) 1:2
(2) 2:3
(3) 1:3
(4) 32

1873806117, 1
1573806118, 2
1573806113, 3
1573808120, 4

www.FirstRanker.com
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Match the geological time period with the extinction or diversification events associated with

them:
Geological | Event
time
A Cenozoic 1. Angiosperm diversification

B. Cretasous

1. Modern fauna diversification
(brvalves, gastropods,
bryozoans, malacostracan

crustaceans)
C. Paleozoic 1. Megafauna extinction
D. Quaternary 1v. Mammal diversification
(1) A-un, B-1, C-m, D -wv
(2) A-w, B-1 C-un D-m
(3) A-u, B-m C-1i D -1v
(4) S ST = N TSI Sl S o -

www.FirstRanker.com
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1879808122 =

1573806124, 4

GEEIEIE]
A, dieeies |0 argEeTS
B. ffirrm |0l st wPTara Fammfree

C. aferm=irs® jii. =TT ST A
D. =94 wigrd=a | iv. Ta997r Efasimo

(1) A-un, B-i1, C-m, D -1v

(2) A-w, B-1, C-u, D-m

(3) A-un B-m C-1, D-1v

(4) A-w, B-m C-i1 D-1v

15738081211
1873806122, 2
1873806125, 2
1873808124, 4

www.FirstRanker.com
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=l l‘i. "Ie;!:-gs E%ra%%%%% Eﬂ&erﬂcil]als with larger claws over males with smaller claws. If

the selection pressure exerted 15 strong revwltangHinst Rervkat dombution ofwlaw Eizst Rdnkkof tm
following statements 1s true about the population’s mean, median and mode ?

(1) Mean > Median > Mode
(2) Mean < Median < Mode
(3) Mean = Mode < Median
(4) Mean = Median = Mode

18738061251
1573806126, 2
1873806127, 2
1573808128, 4

WATH & 3414 9G4 ¢, af TEOTHET ST ol & ST ®1 Fa<or (997 g 7147 g, Matatas sa=t 7 9
AT ATATaT & AT, ATEAHT A7 ggA® & a1 H 9gl g7

(1) HTET > ATIETHT > Tga®
(2) HTET < HITEA®T < Agah
(3) HTET = Agah < ATTEqHT
(4) HATET = HATIETHT = Tga®

18738081251
1573806126, 2
1573808127, 2
1573806125, 4

www.FirstRanker.com



=I l"'lniEeal:g!{- g%’ﬁ%rsa?gﬁ%%% Engrynrglatmusmps between 9 extant bird species and whether

a
they display red or blue plumage. www.FirstRanker.com www.FirstRanker.com

Red
Red

Red
Blue

—— s

Red
__Red

Elue

Elue

Based on the above phylogeny and the distribution of red and blue character states among the

extant species, and using the principle of parsimony, which of the following 1s the correct
mference about plumage colour of the ancestor at the root P?

(1) Ancestral state at P is blue.
(2) Ancestral state at P 1s red.

(3) Ancestral state at P 1s more likely to be red than blue.

(4) Ancestral state at P 1s equally likely to be red or blue.

18738081291
1873808120, 2
1873806121, 3
1573808122, 4

www.FirstRanker.com
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(1)

(2)

(3)

(4)

www.FirstRanker.com www.FirstRanker.com
—1__Red
Red

e _Red

Blue
B

Red
—Red

BE— Blue

Blue

ST AIAGT & AT 9% a8 TANAAT 6 A5 AT A ATAT AGT ATHSATRAT o (4940 & AT T,
T T FEgTa & I wd g0, §a P 9T @9 & a1 & °a § Fatetaa § F &t A
SR AL g 7

P % qaw srf¥sai=r #1=(1 2
P o= q&= Af=ai=s a1 2l
P 9% qd= arfreai=n @ {o10 A1 &l ToAq1 # AT il THEAT AT 2

P o= 73w srforeat=h & Form arer ar e & Fwra< a97ar gl

1573808129 1
1873808120, 2
1873806121, 3
1573808122, 4

www.FirstRanker.com
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=I F' at %}@scn A é‘!ﬁfgsems trends of number of sperms produced per mating
season w:th respect to number of m¥{¥Y- RUSIRAEHEHm mewwaﬁﬁﬁtﬁ?@j(?éﬁ?&mts

trends of time invested in paternal care with respect to number of mates in birds.

Top panel (a) (b)

No. of sperms produced
per mating season

(c)

1357911 1357911 135791

> —_— —_—>
MNo. of mates No. of mates MNo. of mates

Bottom panel
(1) (i) (iii)

Time invested in
Paternal Care

(iv)

1357917 135791 1 35791

No. of mates No. of mates No. of mates

Select the correct trend from each panel
(1) c,1v

(2 a,ii

(3) b,1iii

(4) a,l

1873808133 1
1873808124, 2
18738061325, 3
15738061326, 4

135 79M1

—>
No. of mates

www.FirstRanker.com
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& gegr #it yaiat &1 wfaf[feea st g, Faft® F=er ag (@@= i-iv) 9f8Et
F griet & I=ar F 999 ¥ Sahg @ | 49 {0 10 699 F agidn w1
siafatee &t 2

(a) (b) (c)

g
3
3

No. of sperms produced
per mating season

13567811 13579811 1357981

MNo. of mates Mo. of mates Mo of mates
Bottom panel

@i (i) (iii) (iv)

Time invested in
Paternal Care

1357011 1357 9M1 135 7ToMNM 1385791

—> R — ——> o
MNo. of mates No. of mates No. of mates No. of mates
Sl THg O Ggl Y3 &1 949 Hiiag
(1) c,1v
) aiu
(3) b, m
4 a1

18738081221
1573808134, 2
18738081325, 3
15738061326, 4

www.FirstRanker.com



= | RS

markers in Column B.

www.FirstRanker.com

Column Column B

A
A | RFLP (1) | Single locus
B. | SSR (11) | Multi-allelic
C. | AFLP (11) | Co-donunant
D. | RAPD (1v) | Single-allelic
(v) | Multi-locus
(v1) | Domunant

Q‘J s c%fr m&ecuﬂ:"markﬂ's m Column A and properties of these

www.FirstRanker.com

Which one of the options given below correctly matches the molecular markers with their

B-(i).

B-(ii),

properties?
(1) A-(i).
2 AW
(3)  A-(i). B,

(4)

A-(i),

1573808137, 1
1873806138, 2
1573808133, 2
1873808140, 4

B-(iii).

C-(ii). D-(+)

C-(iv). D-(iii)

C-(v). D-(v1)

C-(i). D-(ii)

www.FirstRanker.com
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FAA A F=A B
A. | RFLP @ | e
B. |SSR iy |TETEIEA
C. | AFLP Giiiy | TE A
D. | RAPD (iv) | TR

(v | T

(vi) TATAT

#1= =0 0 SweTl H & R AT ATMAE gl w39 (SIS aTHl & A1 Agl (HeATT HmeAT 27

(1) A-(vi), B-(i), C-(ii), D-(v)

(2)  A-(v). B-(i). C-(iv). D-(iii)

(3)  A-(). B-(i). C-(v). D-(xi)

(4)  A-(i). B-(ii). C-(). D-(ii)

18738081371
1573808138, 2
1873808129, 2
1573808140, 4

www.FirstRanker.com



:I :1PEQEE%%%%EJ§§DET£QE' important medicinal properties and have been

extensively used in traditional medicine ad¥WArSIGRRI KRGO BF these coMWiiiStRAAKRITEOM
purified or synthesized and are used in modern medicine. Given below 1s a list of metabolites,
their plant source and medicinal use:

Metabolite Plant source Medicine/Use
A | Digoxin (1) | Artemisia annua Q. | Aspinn
B | Salicin (11) | Papaver somniferum R. | Anti-malanal
Morphine (11) | Digitalis purpurea S. | Cardiac aillment
D | Artemisimin (1v) | Willow tree T. | Narcotic analgesic

‘Which one of the following options 1s the most appropriate match of the compound with its
plant source and use?

(1) A-(111)-R; B-(1)-T: C-(1v)-Q; D-(11)-S
(2)  AGv)-Q  Bi)R,  C(i)S; D-(i)-T
(3) A-(1)-T; B-(111)-8; C-(1)-R; D-(1iv)-Q
(4)  A(iDS;  BOW-Q  C{(i)T; D-(1)R

1573808141, 1
1873808142, 2
1573808145, 2
1573808144, 4

www.FirstRanker.com



:I %gﬁl’}; %anker cana:‘r]“?:m*?rﬁ FOd g AT SAET TIT GieaT § TIEFT 0 AT
HHWFWWW%lTWWWWﬁWﬁ%WWW%Wm

AT AT H ITAET AT F1AT ) A= IUTT=AA0 o1 Uk =1, I T157 =i S AT 396 (=0

™ E:
A= 9= | PP
A | STEEE (i) TR AT T qQ. | T
B CIEIEE] (i oY AT R FATLAT-TT
c AT (i) fEraztee qoegiear g |&F AT TATIE
D I EIEIEE] (iv) EELE T | == TEATIE

Trefertaa TFea1 § & Fa a7 A060F 67 39 57 =q A7 ITA0T F a7 a6 ITIF (HATT 27

(1) A-(u1)-R; B-(1)-T; C-(v)-Q; D-(1)-8
(2)  AGV-Q;  BG)R,  C(i)S; D-(i)-T
(3) A1) B-(i)-S;  C-()-R; D-(iv)-Q
(4)  A-Gi)-S;  B-GvW-Q  C-)T; D-(i)-R

1573808141, 1
187380814z, 2
1573808145, 2
1873808144, 4

www.FirstRanker.com



=I A l'ﬁvr" EEF-SEISI? E}g}%@ﬂ!‘ﬁ@? I FQ]HS of the T-DNA regions of four constructs that are to
be used for 4grobacterium — mediated traf¥WTAERIIR 8 k@@ Mn endogedY fihigt Ranker.com
represented as “XYFP" that 1s expressed constitutively in the plant.

355Pr XYFP  Intron XY OCSpA

Al M |:>| [ re

355Pr XY Intron FP OCSpA

B [ s M I >| RB

355Pr PFYX OCSpA

¢ ] )1

355Pr XYFP  Intron PFYX  OCSpA
] ] ) | w

M : Selectable marker gene expression cassette
LB: Left Border
RB: Right Border

Whuch of the four constructs depicted above could be used to silence the target gene “XYFP’'?

(1) A and B only

(2) B and D only

(3) A and C only

(4) C and D only

1873808145, 1
1873806146, 2
1573808147, 2
1573808145, 4

www.FirstRanker.com
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T A TTET 1, Eﬁmwmaﬁm‘eﬁ’% SHRARKEL S e A B IRARKRTLP™
EXEIURE LA IE ]

355Pr XYFP  Intron XY OCSpA
A I LB M I RB

355Pr XY Intron FP OCSpA
B [ w M | > | RB

355Pr PFYX OCSpA

355Pr.  XYFP  Intron PFYX  OCSpA

o e [ I R

M : FATATT (Hvg® S ATHATH FHZ
LB: AT AT

RB : aTigeT |
SO =T =1 qe=ara | 7 awr XYFP' /e 59 1 5165 & 0 399091 T o1 96ar 27

(1) FaTATITB

(2) FEFBTATD

(3) Fa4 ATIATC

(4) FEFCAATD

1573806145, 1
1573808146, 2
1573806147, 3
1573806145, 4

www.FirstRanker.com
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crop plant: www.FirstRanker.com www.FirstRanker.com

A Genotypic/phenotypic variation m the desired trait should be available in the
germplasm resources of the crop plant.

B: Availability of molecular markers linked to the trait of interest would decelerate the
process of trait introgression into desired varieties.

C: Breeding procedures to improve plant varieties are generally more successful among
sexually compatible species as compared to sexually mncompatible species.

D. Co-dominant molecular markers cannot be used for selection of plants with the desired
trait.

Which of the above statement(s) 1s/are INCORRECT?

(1) AandC
(2) B only

(3) Cand D
(4) Band D

1873808143 1
1873808150, 2
1573808151, 2
1573806152, 4

www.FirstRanker.com



» Ei
:l lﬁ.&,’%ﬁ EE%%%HQF%WW%WWFHHEW%WE

A

] ) ~ www.FirstRanker.com www.FirstRanker.com
g TH89F H SATAA= I/ AqTAeaF [ aaar FE«r e & qadeed qara+1 § 39459 gt
ELEL

: TAeTE ATAE | HAT AOMTSE gl thi ITA=Tdl AT TheAT H [999H SEHAT TihAr ®r

HT HAM

; TTET THEAT ®T 39F FOd o A0 ARAT ARATT ATHTAAAT A6 9 H FAATT AT Hl qAqT 7

AT =9 | A9 AANAAT & A9 ATHF THA 2ral g
HAZ-AATAT AOTa e =gl FT ITATT AT@A T [990TF & AT G971 % Fq9 & (a0 Ag1 a1 77 qhar
2l

S A ATAT FAAT A H AAA 27

(1)

(2)

(3)

(4)

ATarC

Faa B

CaarD

BaarD

1873808143, 1
1873806150, 2
1573808151, 2
1573808152, 4

www.FirstRanker.com
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=I F' rs‘ﬁ(er O WS <12 Er cgm antibodies, one specific for cell surface antigen A

and the n’rher specific for cell surface antigeVRY . Fkst RaRkebeBMvas label ldMwithifisidtestiar.com
and ant1-B antibody was labelled with rhodanune. The cell population was then analysed for the
presence of antigens by flow cytometry. Which one of the following 1s the correct outcome for

this cell population?

@
< N sapslf
g AT B ATB
o

(1) S
v tp— +pt
B ATB ATB
[

Green Fluorescence

@Q
c| atmp A B
a
o

(2) S
= -n— +pt
= A B ATB
o

Green Fluorescence

= F]
Er = + 4 4
o A B A"B
[ ]
i
ot

(3) S
e
2 A B A"B
[

Green Fluorescence

ol
c| ag A*B*
Q
[
W
3

(4) S
I — - -
T A B A B
=

Green Fluorescence
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B cEirstranker's choice
1879806154, 2
1879805155, 3
1879806156, 4
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:I lrfq!%ﬁi%%%%%ﬁﬁﬁ&mmﬁﬁ A & T fafsre &7 585t

HITIFHT 7a A== B & oo f&afsrg 2, 7 afafea
ﬁmﬁm%ﬁTWlmmHﬁmmﬂmm@%mmﬂﬁmﬁuﬁmﬁm

Taggfoa T am == Srfsrwr /a1e & = fate=tas 5 9 559 a7 vF 9o @80 27

(1)

(2)

(3)

(4)

Red Fluorescence

Red Fluorescence

Red Fluorescence

Red Fluorescence

# T

ATB

ATBY

Green Fluorescence

ATB”

ATBY

AT B

ATBY

Green Fluorescence

A"B~

Green Fluorescence

A*p*

A~ B

A B

www FirstRanker.com

www.FirstRanker.com
= = Anti-A gfavsft &1 w=eEE Jl

anti-B

Green Fluorescence
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B cEirstranker's choice
1879806154, 2
1879805155, 3
1879806156, 4

www.FirstRanker.com www.FirstRanker.com

The following statements are made regarding developing a transgenic mouse:

A The transgenic mouse thus born will be a homozygous transgenic animal and can be
maintained by crossing with another transgenic animal.

B . The fertilized transgenic eggs are allowed to develop in vitro.
C. The desired gene 1s preferably microinjected in male pronucleus after sperm entry
oocyte.

D. For best efficiency, the desired gene 1s always microinjected in the male gametes and then
they are allowed to fertilize the female gametes.

E. Blastocyst stage embryos are transferred to the uterus of hormonally prepared mother.
F. The fertilized eggs are collected from specific strain of mouse.

G. The female mouse of specific straimn 1s superovulated, oocytes are collected and allowed to
fertilize in vitro.

Choose the combination of statements arranged in the correct sequence for developing
transgenic mouse.

(1) G—-C—E
(2) F>C—=B—=A
(3) G—=D—=A
(4) D-F—=B—>A

1573808157, 1
1873808158, 2
1573808153, 2
1573808160, 4

www.FirstRanker.com
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A, T, TET FAT TS AT AHSATT TIESATAT FTHT ZETT A7 AT TIEA AT IO 6 T7F FFHT 5197 549

AT T AFHAT 2

C. ar+fte =17 &7 5(=F | s[H19 F T F A13 797 AGa® A TOATcAF &7 F ATSHeAd AT 14T 2|

D. 3= wioms = form, arsfte sfite &1 gHe 77 061 | ATsawizoae ar sirar g &t e 3 |rar ot
&l fAuf=a &7 7%d 21

F. fauf=a &= qus & fEfeg g== 7 ust=a fFw s 2)

G. Tafére wo= & #7121 qusw TS gt 2, =% vEiAd e °d g aar 977 s e .
GET 1]

TSt HUE AT Foed F =0 A0 AqGFA H AT eqd ®AF] 6 AA0AT qA
(1) G—>C—E

(2) F>C—>B—A

(3) G—>D—A

(4) D>F—-B—>A

1573808157, 1
1573808158, 2
1873806153, 2
1573808160, 4

www.FirstRanker.com
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=I l"} EFEI'FI g{%&k ér%%r!g‘l eI;aacisﬂaIrlg-l!,;sed on the basis of variation of electrical potential

at various loci on the surface of the body, WMzl kgtRaRKRI 16 MiMon of diffvvémt-RissbRanker.com
analysing the ECG, following particulars of heart are proposed to be obtained:

A Stoke volume and cardiac output

B. Volume and pressure changes during cardiac cycle

C. Anatonucal ortentation of heart

D. Various disturbances in the rhythm and conduction of cardiac excitation
E. The extent, location and progress of 1schemic damage to myocardum

Which one of the following combimations represents both INCORRECT particulars of heart?

(1) Aand B
(2) Band C
(3) Cand D

(4) Dand E

1573806161, 1
1573808162, 2
1573806163, 3
1573808164, 4

www.FirstRanker.com
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T o AHA AT G99 & Ardre 97 =gt G m=m ECG Eguw # 7ms, 759 &%

ATH FoAT Fealiad g
B. #=9 =% & 0 A #7 Z491d J 9igad

C. =7 &7 1417 TaATA® ATqiaeard

D. == 7 fafay s=org 97 Z59% I99AT &7 99184
E. TsitEeas & = sqias-a=par aast af &1 =, Faia & o

THrefertaa Jarsel # | T A7 Z24 & =f Tod (a0 Hf Z97ar1 g 7
(1) AFaTB
(2) B @41 C
(3) CaarD
(4) D aaT E

18738068161, 1
1573808162, 2
187380B1ES. 2
1573806164, 4
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Column Column B
RACE (1) | DNA-protein
imnteractions
B. | South-Western | (1) | FAM
blotting
C. | Recursive (1) | Determuning
PCR the ends of
mRENA
D. | TagMan (1v) | Construction
of synthetic
DNA

Which one of the following options correctly matches terms of Colummn A and Column B?

(1) A—(w); B—(1); C—(1); D—(11)

(2) A —(u); B-(1): C—(v); D— (1)

(3) A—-(1);B-(v); C—();: D— ()

(4) A-(1);B-(1);C-(v);D-(m)

1573806165, 1
157380B16E. 2
1573806167, 3
15738061685, 4

www.FirstRanker.com
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wi=a9 B
A. | RACE (i) DNA-9TET
TUgEEA
B. | T i) | FAM
e (ii)
C. | 77emad PCR (iii)y | MRNA = f&=1
EARGEIRRI
D. | TagMan (iv) | =gfaa DNA =1
TET
TR fEaedi # 9 & |77 Hia0 A &7 Fiaq B i st w1 /g1 #Har= g2

(1) A—(v); B—(); C—(1); D—(11)

(2) A-(u):;B-():C-v);D-(u)

(3) A-();B—-Qv); C—(1);D- ()

(4) A—(u); B-(1); C—(); D—(u1)

1573808165, 1
1873B0B1EE, 2
157380B1EY. 2
1573806165, 4

www.FirstRanker.com
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E-r 5
be -:lc-ned in the Smal (CCC .} GGG) siteWW Vel Es R aRKRFGAMKD length WG riRamkae.com

of the other enzymes of the multiple cloning site are present in the fragment to be cloned.

(A) " (B) E§E§§%
E ST o 0w g
3 P L1l 111
5 — E
€ > € >
0.2 0.8

Based on the information given above, a series of digestions were set up for the potential clones
and their fragment profiles are given below:

A BamHI - 200bp + 3.8kb

B. BamHI - 800bp + 3.2kb

C. HindIlI+EcoRI - ~1kb +~3kb

D. XhoI+BamHI - ~200bp + ~800bp + ~3kb

Which one of the above digestion profiles confirms successful cloning of the fragment in the
vector in an orientation wherein the 57 end of the cloned fragment 15 towards ‘P*?

(1) A only
(2) B only
(3) Aand C
(4) Cand D

1573806169, 1
1573808170, 2
1873806171, 2
1573808172, 4

www.FirstRanker.com
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F TE FAIT arg® & Smal (CCC v GGG) =9+ | F=1+ oy sram 2 (= ‘BY)1 a5 #=1i+ =94 &7

FIE AT AT TATEH FATT (6T F17 a7 @S H IT9T 72l 2
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A BamHI - 200bp + 3.8kb

B. BamHI - 800bp + 3.2kb

C. HindIlI+EcoRI - ~1kb +~3kb

D. XhoI+BamHI - ~200bp + ~800bp + ~3kb

ST T ATRIEAT § A FKiF AT TF ST G FANGT A1 HdAT g o8 (6 T1g% 7 FAT7 [
T EE & S R A e P A A g

(1) Fa A
(2) F74 B
(3) AFarC

(4) C a7 D

1873808169, 1
1873808170, 2
1873808171, 2
1873806172, 4
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:I A tlﬁa’?ttg $ d q%geérer 0 QJUH-‘Helated centrosome-localized GFP-tagged proteins

[GFP-A; GFP-B], a team of scientists con@®ted BisHRaRKRE CRBbvery aft¥y WMol IsiERamker.com
(FRAP) experiment. The FRAP profile of these two proteins 1s given below:
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The following statements for this FRAP analysis were made

A GFP-B shows faster exchange rate than GFP-A

B. GFP-A shows faster exchange rate than GFP-B

C. GFP-A has more immobile fraction than GFP-B

D. GFP-B has more immobile fraction than GFP-A

Whuch of the above mentioned statements for GFP-A and GFP-B are correct?

(1) AandC
(2) AandD
(3) Band C
(4) Band D

1873806173 1
1573808174, 2
1873806175, 3
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78 FRAP fagum & fon faafeiea #9q dae fFo o g

A. GFP-B, GFP-A %t =T # iz fafir == zarfar 21

B. GFP-A, GFP-B &t go=1 7 #1a fafawa =7 z91ia7 2

C. GFP-A# GFP-B & a1 # sifes a9+ /97 2

D. GFP-B# GFP-A &t ga=T 7 afa® a9+ 7197 2|

GFP-A &= GFP-B & o 3= a=a ®941 # § &9 a1 951 27

(1) AFarC
(2) ATarD
(3) B 79T C
(4) BAaTD

15738081731
1873808174, 2

1879806175 =2
1273308176, 4 www.FirstRanker.com
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Absorption spectra of L-tyrosine in acidic (continuous line) and basic (dotted line) medium was

estimated and plotted on a graph as depicted below:

1.0

0.8 -

0.6 -

0.4

Absorbance

0.2 -

I | |
260 270 280 290 300 310 320 330 340 350

Wavelength (nm)

Following interpretations were made:

A

D.

Change 1n the pH from acidic to basic results in shift in the lowest energy absorption
maximum and decrease in the molar absorptivity.

. Shifting of the absorption band to longer wavelength signifies a shift to lower energy, also

known as red shift.

Shifting of the absorption band to shorter wavelength signifies a shift to higher energy, also
known as blue shaft.

Wavelength shift 1s always accompanied by change in intensity of the absorption band.

Select the combination with correct interpretations.

(1) Aand B
(2) Aand C
(3) Band C

(4) BandD www.FirstRanker.com
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A. A 7 A pH # gfiada &1 T0oH FEad SS Aq9a w5 SIAia w7 AT9waH 21 AT 8

TAT HIAT ATATIHRAT FH 2l AT 2|

B. sA7siaor &vs &1 29 999a5d & AT S0 WHHaL ST @i A T ® q96d g, Tg A1
FATATA0T & AT | ST ST A7 2

C. TSI J72 FT A T34 Hl AL FAHALT IFA7 HHA1 i AL TITHAEL0T FT ARA g, T Al
FATATA & AT | A1 F7 A7 2

D. T2 SATHTa<0 ZHAT ATITAT 475 i AT79T § Taad & a1 Zrav 2
(1) AFaTB
(2) AFarC

(3) BaaTC

(4) BaarD

1879806177 1
1879806178, 2 www.FirstRanker.com
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